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Question Number : 1 Question Id : 8135613201 Display Question Number : Yes Is Question

Mandatory : No

Roots in some gymnospermic genera have fungal association in the formof A i B .

—

Here A and B refers to

§9) 5,8 D perdown Wood wiroride 8D drdo A & B .

DS A & B e 3z
Options:
A —lichen: B —cycas
1 % A - gsa: B —J5°
A —lichen: B — pinas
> # A-gSd: B-23

A — myvcorrhiza;

A — mycorrhiza:

A — 3Dog Sareo:
4.9

B
A - %bog A0rVo: B - 5
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Question Number : 2 Question Id : 8135613202 Display Question Number : Yes Is Question
Mandatory : No

Select the correct statement with respect to Bryophytes?
LAITDHES L Dotodow) 0B T°S” VOADD J°8(o?

Options:
Embryophytic. Archegomate. Tracheophytic. Cryptogams
DofidG 20D, ©0) FA0oe (0, TIST Srreaing Qayod JE),

Archegomate. Embryophytic, Atracheophytic Cryptogams

il es8) i dado o), bo&?@_)@ 200, TS SHPY Gard Yoot ) e

Embryophytic. Tracheophytic. Archegoniate Phanerogams

| 2083 28D, TS Snroaing, BB FAobo (o ol Jos); e
3.9

Embryophytic. Vascular. Non archegomate Phanerogams

bn&faﬁ 200, TS SnrONG, 090 Dabo T iPayed A0E) e

Question Number : 3 Question Id : 8135613203 Display Question Number : Yes Is Question

Mandatory : No

Biosystematics aims at

moar.?ozgme.‘)ég &0

Options :
The classification of organisms based on broad morphological characters
L VST Py DIErD VTR B CorT 2PV HOSBodA
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Delimiting various taxa of organisms and establishing their relationships

5 DG 6570 EP STV VBB Gold T G| VLTV D0yG o

The classification of organisms based on their evolutionary history and establishing their
phylogeny on the totality of various parameters from all fields of studies

2 DB 38 Lo AL H08Boct) Dok B £8 g-cm OG(ODTY

BTG DG DTV BEEGoT S0 33“3‘1)()' g"boéau
3. % ¥

Identitication and arrangement of organisms on the basis of their cytological characteristics.

, ST 08o erdor AU HBoidto LB 1§ S DEBS" BRBGo
4,

Question Number : 4 Question Id : 8135613204 Display Question Number : Yes Is Question
Mandatory : No
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Which of the following correctly represents the type of lifecycle patterns from the given options?

Options:

1 — Diplontic, 2 — Haplontic, 3 — Haplo-diplontic

3.%
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| — Haplo-diplontic. 2 — Diplontic. 3 — Haplontic
[ - DS SEH DBS. 2 - G N3, 3-8 DAS
@ @ ®
1 — Diplontic. 2 — Haplo-diplontic. 3 — Haplontic
I — &b NSS. 2-28 BEH VAS. 3 - DS DS
4 % @ @ @

Question Number : 5 Question Id : 8135613205 Display Question Number : Yes Is Question
Mandatory : No

Read the following statements regarding biological museums
(1) Biological museums are generally set up in educational institutes such as schools and colleges
(1) Museums have collections of preserved plant and animal specimens for study and reference
(1) Specimens are preserved in the confamers or jars m preservative solutions
(iv) Insects are preserved insect boxes after collecting, killing and pinning
(v) Larger animals like birds and mammals are stuffed and preserved
(vi) Skeletons of mammals are not allowed to be kept in museums,

Which of the above statements 1s/are not correct?

ébw@ Qr{Rabovs) RotioBoN Anaire)
(1) deTow, SPFor Sob) Dw‘s‘faofgvé‘ oot 25TR Surfosonn Ddhd@“:b
(i) durg@aiond” B5, 2080 BB BEiaDe S8 LB ArdedES
(i) Degosvod amen o &6us” 92 BEIHTE
(iv) $50R 28900), TE o, DR\ OS SR LS HEILIL
(V) D6 20800PR 500, L6T0R) T8 $TVR0 Grad Jod FEETE
(vi) 60 e%uboau*vm mrbatmové‘ BEGIE

D T’ PO 5 T borSod”

Options:

(ii ) & (iii) only
 w (i) & (iii) Sorgdo
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(i) & (vi)only
, w (1) &(vi) 3rad

(v) only
3 % (v) arda

(vi) only

. (vi) S0°de

Question Number : 6 Question Id : 8135613206 Display Question Number : Yes Is Question
Mandatory : No

Velamen i1s found in

DR D

Options:
Roots of serewpine
20058 'S Do

Aerial and terrestrial roots of orchids
€58), 65D TS 2oBat FeriG) SE

Leaves of Ficus elastica

DED QTTIS® DT
©

Aerial roots of orchids

_ u&bé.bé‘ T aOS DD
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Question Number : 7 Question Id : 8135613207 Display Question Number : Yes Is Question

Mandatory : No

Match the following?
Column - 1 Column - II
(a) Apple (1)  Outer potion of receptacle
(b) Coconut (1) Fleshy thalamus
(¢) Jack frut (1) Thalamus and pericarp
(d) Guava (1v) Endosperm
(e) Pmeapple (v) Bract. perianth and seeds
So8 TN BAIGIC?
0 -1 Qb -11
(a) D& (i) erargposdo
(b) Send (ii) GRFBSD ar Do
(c) DD (iif) DAy SBatw DY
(d) > (iv) ©0S6w\Go
(8) VTVDOTD (v) R0, 28HG0 B0k DT

Options:

1% (a—ii),(b—iii),(c—iv),(d—v),(e—1i)

, % (a—v),(b—iii),(c—i),(d—iv),(e—ii)

3 » (a—ii),(b—iii),(c—i),(d—v),(e—iv)

4o @a—ii),(b—iv),(c—v),(d—iii),(e—i)
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Question Number : 8 Question Id : 8135613208 Display Question Number : Yes Is Question
Mandatory : No

Match the following?

Family Plant Fruit
(a) Solanaceae (1)  Citrus (p) Pome
(b) Moraceae () Pyrus (q) Syconus
(¢) Rosaceae (1) Lycopersicum (r) Hesperidium
(d) Rutaceae (iv) Ficus (s) Berry

So8 T°AN RBDCC.”

LAV AT A0S, VO
(a) TOI (1) DR (p) T
(b) 2B (i) DO (q) DESD
(c) BEN (1) Larer (1) Ry0c.ato
(d) dree (Iv) DS (s) QEDVo

Options:
1% (a—i—q),(b—iii—r),(c—ii—p),(d—iv—s)

> # (a—ii—p),(b=iv—=q),(c—iii—r),(d—i—s)
3 x (a—iii—r),(b—ii—p),(c—i—q),(d—iv—s)

p v (a—ili —s),(b—iv—q) (c=ii—p),(d—i=r)

Question Number : 9 Question Id : 8135613209 Display Question Number : Yes Is Question
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Vegetative propagule of curcuma 1s

DRPS” FTHOD TD SEsW

Options:
Runner
- da‘:-:lé

Rhizome
5 o é.':m&

Offset
3 ® QJ:):DQS

Corm

4 % SoBB

Question Number : 10 Question Id : 8135613210 Display Question Number : Yes Is Question
Mandatory : No

Pollination is

Mo lonle! i‘-bnbdz,o ROTT®

Options:
Transfer of gametes on stigma

| STrdo P& Dodird e 0Bd

Transfer of male gametes on stigma

. $ordio P& R Vodkrd Dere 2A9
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Transfer of female gametes on stigma

dertio P& B Dodires Darw w6

Fusion of male and female gametes

i » D, R Dol Darer SOV

Question Number : 11 Question Id : 8135613211 Display Question Number : Yes Is Question
Mandatory : No
Polyembryony is reported in
(1) Citrus
(1) Mango
(111) Gossypium

Correct names are

RITVD0ES (R AS) .0
(1) PBS
(11) Areadé
(1) DB

DS HBADD DA

Options:
(i) & (iii) only
1. % (i) & (iii) &orgdad

(ii) & (iii) only

, w (ii) & (iii) 2rgd

5w (1), (ii) & (iii)

4. v
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(i) & (1i)only
(i) & (i) S0

Question Number : 12 Question Id : 8135613212 Display Question Number : Yes Is Question
Mandatory : No

Plants of which one of the following groups of genera are pollinated by the same agency

408 TS" D A8 L AT 2,8 B VO VeE), NI TP(T™ DO Vo:0),0
BEDE RR)

Options:

Salvia. morus. euphorbia

, 8o, 376D, akwd'Gy08
p R

Bombax. butea. bauhinia

5. DK, 2argEosr. 5104 lo v o)

Triticum. cocos. Mangifera
38D, §'570, Arrohnoe

B %

Ficus. kigelia. casuarina

, » D59, 52008y, SwgT

Question Number : 13 Question Id : 8135613213 Display Question Number : Yes Is Question
Mandatory : No

The book ‘Die Naturlichen Planzen familien’ was written by

‘& OB FoBS DWVoLS” B PAS Grsansd
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J. Hutchinson

w1 OS5 0S

Englr and Prantl
-~ Dotid 0B Jrokes

Bentham and Hooker

3 % 30" B0 TS

Theophrastus

i BAEFTVD

Question Number : 14 Question Id : 8135613214 Display Question Number : Yes Is Question

Mandatory : No
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Match the following Liliaceae members with their common names?

Column - I Column - II
(a) Colchicum autunnale (1)  Spanish dagger
(b) Dracaena aungusti folia (11) Sarsaparilla
(¢) Yucca gloriosa (i1) Medow satfron
(d) Smulax zeylanica (1v) Red dragon

Brbsd 9B 2y HDabRd Sotwors g VM TB FErdn TArd Juyed?

SHI - 1 S - 11
(a) 5080 BLDIS (i) ey erib
(b) &7 oY dase (if) WoRIor
(c) aswsr), Hocirar (1) DE T
(d) Qév’é;) BT (iv) O &rtde

Options:
, % (a—i),(b—ii),(c—iii),(d—iv)

>  (a—ii),(b—iii),(c—1),(d—iv)
5 o (a—iii),(b—iv),(c—i),(d —ii)

4 % (a—iii),(b—i),(e—ii),(d—iv)

Question Number : 15 Question Id : 8135613215 Display Question Number : Yes Is Question
Mandatory : No
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Meiosis can be observed in

S030866 DBRD (20otdc SEen

Options:
Tapetal cells
x S0 SeTeew

Megaspores
Are) DG e
£ @ @

Microspores

. 3 SSETS i'og Dazee)

Spore mother cells

NG Dey ABySETeD
4.v %8

Question Number : 16 Question Id : 8135613216 Display Question Number : Yes Is Question
Mandatory : No

Which of the following is the simplest amino acid?

808 T°83e5° POVIVD VS o

Options:
Alanine
| % BOVDD

Asparagine

= 3'53365
2 S

3.
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Glycine

QLSS

Tyrosine

RS

4, %

Question Number : 17 Question Id : 8135613217 Display Question Number : Yes Is Question
Mandatory : No

Ribosomes were first observed by

025"V L0 AT D83VeDD TS

Options:
Robert Hook
mmg oS

1.%

K. R. Porter

_ KRI85
2, % e

George Palade

- wg DG

Robert Brown

% 0 o‘*mg (B

Question Number : 18 Question Id : 8135613218 Display Question Number : Yes Is Question
Mandatory : No
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Ribosomes are found in the following organelles except

Sodd &) Qy SeTorrers’ 0e5°d% e FID

Options:
Chloroplasts
;% Fo el Tol>-bFu) (3]

Golgi apparatus

- 8 Dodo

Mitochondna

2 % 205" arog,030°

Rough Endoplasmic Reticulum
. (0O ©od8D Borwo
4. % & =

Question Number : 19 Question Id : 8135613219 Display Question Number : Yes Is Question

Mandatory : No

Go through the sectional view of a

mitochondrion showing the ditferent parts and
identify the structures A to E?

B A\ i'arogiolr e A. B. C.
D. E 08 tBotiot:?

Options :
1.¢
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A - Outer membrane, B — Inner membrane. C — Mairix. D - Inter membrane space. E - Crista

A-2w00d 6. B-60IT6  C-ards. D-Tdw | ard it E- 83

A - Quter membrane. B — Inner membrane. C - Inter membrane space, D -Matrix. E - Crista

, A-2wodTs.  B-sWdT6 C - Tov Sds| a9 %o, D-rgs. E-8Y

A - Quter membrane, B — Inner membrane, C — Matnix. D - Cnista, E - Inter membrane space

L x A-2w0BTe B-g0BJe. C-drge D-8)  E-Jov dfare odte

A — Outer membrane, B — Inner membrane, C - Crista, D — Matnx, E - Inter membrane space

i A-200dF6.  B-900T6,  C-83 D-drds. E-Jde Sock|are pddo

Question Number : 20 Question Id : 8135613220 Display Question Number : Yes Is Question

Mandatory : No
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Vascular Tissue Pattern
(a) Open (1)  Alternate on different radu
(b) Radial (1) Cambium in between Xylem & Phloem
(¢) Conjoint (i) Cambium absent
(d) Closed (iv) Xylem & Phloem on the same radius
S0 AN BADGSG]
TYS E0re0 008 dordo
(a) Do (1) @500, S a“éb'g“v;‘.g
(b) .3‘53"20 (1) o, Fie snerere SV- 3@&5 gerad dotiio
(¢) Noodns (111) Dz,rae.5 SE3V0 TS0
(d) Rodydo (iv) &0, T8 sareren w8 T(0o D 2B Gotol

Options:

1% (a—iii),(b—iv),(c—i),(d—ii)
5 % (a—i),(b—ii),(ec—iii),(d—iv)

3 % (a—iv),(b—iii),(e—ii),(d—1)

s v (a—ii),(b—i),(c—iv),(d—iii)

Question Number : 21 Question Id : 8135613221 Display Question Number : Yes Is Question

Mandatory : No
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Assertion (A): Sieve fube are enucleated cells

Reason (R): The functions of sieve tubes are controlled by Phloem Parenchyma

DB (A): O TR Sods Berered
52680 (R): P00 Tvo JEdensd IS Snarve JaDodorm

Options:
Both A and R are correct
. A 208030 R e o 20D

Both A and R are not correct

5 % A 08030 R e Gotr RBID 57

A 1s correct but R 1s wrong
3 v A VGG 57 R 25~

A i1s wrong but R is correct

4 % A 2857 57 R 20

Question Number : 22 Question Id : 8135613222 Display Question Number : Yes Is Question
Mandatory : No
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Match the following?
Column - I Column - I1
(a) Protoxylem (1) Narrow sieve tubes
(b) Metaxylem (1) Larger steve tubes
(¢) Protophloem (1) First formed xylem
(d) Metaphloem (1v) Xylem toward periphery
(v) Later formed xylem
S0l TR 2SBDOBR?
D -1 S - 11
(a) DO o6y (i) REBI TV T
(b) eody T (i) D¢ TV TPYew

(¢) DG TS s0rvo (i) DG ABG TP

(d) e0dy TS Seervo (iv) 288 Y °hY)

(V) So°(d 6\ i)

Options:
, » (a—iv),(b—iii),(e—ii),(d—1i)

2. % (a—v),(b—iv),(c—iii),(d—ii)
, o (a—iii),(b—v),(c—i),(d —ii)

4 (a=1),(b—ii),(e—iii),(d =iv)

Question Number : 23 Question Id : 8135613223 Display Question Number : Yes Is Question
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Identify the incorrect statement of Bulliform cells

wg&% SETOL) DotloBot) VOTHLIAA S° TS0

Options:
They are large. colorless

Q) bg:) Peslobblonbh &‘)g Garrdo

They are found on the adaxial epidermal cells
Q) 0§ oo DYDY LT BA) Se7reed” Gotod)

They become flaccid leaves curl inwards

. QD 3650 BoBS DTN S DIDYHL HLNED Soto
3.3 =

They are found in dicot leaves

4 o WD BBV D HorOs® ot

Question Number : 24 Question Id : 8135613224 Display Question Number : Yes Is Question
Mandatory : No

Assertion (A): Ecological succession can turn a lake mto a dryland forest with time.

Reason (R): A bare rock can become a forest through ecological succession

A3y80 (4): 0% Rotots BRSNS Eod DRIAES" 218 O Ruiy, Botforr SrB' P
50100 (R): 0368 Moot BS08" 2.8 ) 30 28 Bes) SO S8 P

Options :
Both A and R are correct and R is the correct explanation for A
1 % A 08030 R e Todr 0D 08030 R 938 A S 20D D566

2.9
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Both A and R are correct and R 1s not correct explanation for A
A 508030 R a0 Todr D8I 57 R 0938 A S 20 D566 57

A 15 correct but R 1s wrong

3 % A 20AS 57 R 2B

Both A and R are not correct

o b A 8050 R e ol DBDD 57

Question Number : 25 Question Id : 8135613225 Display Question Number : Yes Is Question
Mandatory : No

Match the following”
Plant Adaptation Classified
(a) Salvinia (1) Long petiole (p) Submerged suspended
(b) Vallisneria (1) No contact with soil (q) Submerged rooted
(c) Nymphaea (111) Contact with soil (r) Rooted floating leaves
(d) Utricularia (iv) Submerged notrooted | (s) Free floating
308 T 2BOGG]
g BRErOR0 LEL

(3) 3t () Teooasese | () O A’ 20, eveddor &3)

b) 6o | (i) A48 dowodo 8 | (1) ©ff)S6m Bod QPO NS AnIBY

(€) odafr (i) 408 doogo | (1) 0 S Sod N 3T deren o
(iv) DB 22000 &) |
(d) argexdtar (5) A Dy 89
Uﬁlédﬁu Dot |
Options:
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. » Ca—i—p), (b=ii—3), (e—ili—q), (d—iv—r)
5, ¢ (a—ii~s), (b—ili—q), (c—1-r), (d—iv—p)
3 u (a—ii~sg), (b—=i—r), (c—ai—y), (d—iv—p)

4. » Ca=ir=r}, fo—d=p), (e=ii—q), (d—H—s)

Question Number : 26 Question Id : 8135613226 Display Question Number : Yes Is Question

Mandatory : No

Which theory explains ATP synthesis in chloroplasts and mitochondria?

PBSBENLY) 2B0IN WE'SToLAres” ATP VoFrs Dd8eD Neredo B!

Options:
Lipman and Lohmann theory
" DD BAI S° TS ~grodo

Lock and Key theory of Fisher

Yo lo) WWE), T°Fo 8D — T°¥o Do) AToho
2. % @

Induced fir theory of Koshland

§Qerol Als), 'aac:rgf: — 285 oo
3 ® e [~

Chemiosmotic theory of Mitchell

NereS §hm£s°é€5§ Sorodo
4. - @®

AP EAPCET 2021

[ ]
gcollegedumas
India’s largest Student Review Platform

el



AP EAPCET 2021

Question Number : 27 Question Id : 8135613227 Display Question Number : Yes Is Question
Mandatory : No

The physiological phenomenon which is considered as necessary evil in plants 1s

"8S33(ED Bddo” ©J HBB F'As &)fighato

Options:
Photosynthesis
édeaez;a'g Dodirnsad

1. %

Respiration
. T(RSOD
2

Transpiration

3 o ) 3635::

Translocation
FToSCR
4. % @

Question Number : 28 Question Id : 8135613228 Display Question Number : Yes Is Question
Mandatory : No
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(ilucose
(Ar€d
I
Identify (a), (b), (c), (d) i the flow * —
chart anaerobic respiration’ (¢) (i])
NAD*
Ao F\® A THEAD  NAD? <’
» i ~ NADH + H*
o ﬁﬂﬁi (), (b), (c), (d) errroro I NADH + H
. 3-Phosphoglyceric acid Pyruvic acid
(D8otsoG? )
Joaoa 1—3‘3'3&'&)55 o Paleb ML 8200
{ | A h*
I {;—a- NAD*
(b) (a) |+co,
Options :

(a) - Lactic acid, (b) — Glyceraldshyde 3-Phosphate, (c) - Phosphoenol Pyruvic Acid, (d) - Ethanol
- (a) » 88 &dvo, (b) ~ ngyé 3 ;}b)eﬁ. (¢) » 3‘5‘361:5'6 DErDS o, (d) = vTd

(a) - Ethanol. (b) — Phosphoenol Pyruvic Acid. (c) - Glyceraldehyde 3-Phosphate. (d) — Lactic acid

o (a) » w60, (b) - IV y&d prds eidvo, (¢) - farrdeed 3-8, (d) - g8 v

(a) - Phosphoenol Pyruvic Acid. (b) - Ethanol. (c) = Lactic acid, (d) - Glyceraldehyde 3-Phosphate

, oy @2 IT a0 pordS wivo. (0) - a6, (0) - of8 0o, (() - oo Biré 3520

(a) - Glyceraldehyde 3-Phosphate. (b) — Lactic acid. (c) — Phosphoenol Pyruvic Acid. (d) — Ethanol

y v W faolpEidhg (b od e (0 - 3T)6v8 pordE i, (0) - 969

Question Number : 29 Question Id : 8135613229 Display Question Number : Yes Is Question
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Which one has more free energy?

DOS* DB I, S 38D €A Gotwod?

Options:
Reactants

_— SoiIr25Te

Transition state of reactants

SOIPRATL S DOIGD NS
2. v - e

Products

3 % %ﬂ‘)&@"w

Active site of enzvme

i DoZ D So3rFw .gvan

Question Number : 30 Question Id : 8135613230 Display Question Number : Yes Is Question

Mandatory : No

Fermentation differs with aerobic respiration except one in the following?

$ea¢0. To0I0 VTS T(RSADE S0d DS’ DG DBBowIR?

Options:
Partial breakdown of glucose

ArEE JLsorr AT H

Net gam 1s 2 ATP
. 2 ATP e 96,60

3 &R
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NADH oxidation 1s slow

NADH 5815660 220) & 260000

Glucose degrades mto CO, & H,0
- (rE% CO, & H,0 ™ DA’ Hd

Question Number : 31 Question Id : 8135613231 Display Question Number : Yes Is Question
Mandatory : No

Assertion (A): Removal of shoot tip imncreases apical dominance
Reason (R): Due to accumulation of auxin in lateral parts, growth 1s mhibited

.:)aaao (A): DS"0EE D SVAR OTAS{S DAL
s*6e0 (R): avogs s’ 8800 Dowode 9 DAEL B Gouecoded

Options:
Both A and R are correct and R 1s the correct explanation for A

1% A 38050 R e Tottr 2B 08031 R 2938 A S DB D663

Both A and R are correct and R 1s not correct explanation for A

5 % A 2080350 R a0 Godr DTID 5°2 R 0938 A S 10D D66 5°Cd

A 15 correct but R 1s wrong
3 % A DB0RAG 57 R 1O

Both A and R are not correct
& A 208030 R e Godtr DB 57

Question Number : 32 Question Id : 8135613232 Display Question Number : Yes Is Question

AP EAPCET 2021 _
collegedunia:s
India’s largest Student Review Platform

el



AP EAPCET 2021

Mandatory : No

Select incorrect pair with hormone and function?

S8 Aoew, T8 DAV VotoBod VBAVLD 2 5°AA?

Options :
Auxin induces parthenocarpy
5 vé')m 29 0aS DV 2000t

Gibberellin induces bolting
- 20,8950 &5"DoAdy DBDotR

Ethylene respiratory climactic
dBOD T Pdair 3A-3s

Cytokmin induces apical dominance

- REBIDW LIRSS DB

Question Number : 33 Question Id : 8135613233 Display Question Number : Yes Is Question
Mandatory : No

Mutation was first observed in

S0 SHEABV AEEFTBM (A0DoDDE?

Options:
Pisum sativam
2NODEIH

1_33L a_

Snapdragon

5 % T DEOS
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Lens culinaris

3 % &_}'5.) &0T°80

Oenothera Lamarekiana
a &HS8o rI°8) QSR

AP EAPCET 2021

Question Number : 34 Question Id : 8135613234 Display Question Number : Yes Is Question

Mandatory : No

Match the following?

Column I

Column II

(a) T.H Morgan

(1)  Chromosome theory

(b) Hugo Devries

(1) Gene mapping

(¢c) Sutton and Boven

(1) Linkage

(d) Alfred Sturtevant

(1v) Mutation

(v) Hybrid experuments

$08 T BSHGBG?

20D -1

2 - 11

(a) T. H m“g"é

(1) 5&?&‘53 fag"u@n

(b) gt DS

(11) 2R Do

(c) :J%J(S & 620

(ili) Rero) o

(d) vﬁ;ﬁ fgga‘*oei

(iv) &8\036%0

(V) RosS68 0Irmren

Options:

. x (a—v),(b—iii),(e—i),(d=iv)
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, ¢ (a—iii),(b—iv),(c—i),(d—ii)

5 % (a—i),(b—ii),(c—iii),(d—v)

4 x (a—iv),(b—i),(c—ii), (d —iii)

Question Number : 35 Question Id : 8135613235 Display Question Number : Yes Is Question
Mandatory : No

A molecule that can act as a genetic material must fulfil the following criteria except

S OO B0f Do SFBovot) B DE) ) Diaired’ w8 S dotioto
J. ©d

Options:
Able to generate its replica

28D Botd sotd

Should not be stable structurally

ORE20D oy ea0 SO &otd
2.4 @ o

Provide scope for slow changes

= 4 D20 BN 287 Hr 6 VIS0 Got®

Able to express itself in form of mendelian character

| 006.90D sEsTRLT (8 DO\
4, % =

Question Number : 36 Question Id : 8135613236 Display Question Number : Yes Is Question
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Mandatory : No

The first restriction endonuclease

200206 BRES JolldryEabd

Options:
1 % EcoRI

3. % Sall

4 % Pru Il

Question Number : 37 Question Id : 8135613237 Display Question Number : Yes Is Question
Mandatory : No

Assertion (A): Flavr savr a transgenic tomato which remains fresh and retaims their flavour for ling time

Reason (R): Production of polygalacturonase enzyme. which degrades pectin is blocked m Flavr savr

DdyBo (A): 56 D36 2] 28308 LATEr, @b T Gokdod. ). F"wo GX $DH Gotrod
000 (R): SR Biendy FDrogds doBd 6dyd 96 2:366" M Botstacsoed

Options:
Both A and R are correct and R is the correct explanation for A
| o A 208010 R e Botir DD 2063w R 038 A & 253 Do

Both A and R are correct and R 1s not correct explanation for A
5 % A 8050 R e Goitr DFDD 5° R 0938 A S 203 D568 5°¢

A 15 correct but R 1s wrong
3 % ARGIE 57 R 15"
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A 1s wrong but R 1s correct
4ax A V057 57 R 2THS

Question Number : 38 Question Id : 8135613238 Display Question Number : Yes Is Question
Mandatory : No

Consider the following statements about therapeutic drugs, Which of the statements given below are correct?
(1)  The recombinant DNA technology is used for production of therapeutic drugs which are safe and effective
() It avouds wnwanted immunological responses, commonly observed with similar products isolated from

non-human sources
(111) About thurty recombinant therapeutics have been approved for human use i the world mcluding India
Ddery D B Mol ofd HswR H63Bottod.. S0 wdyd THG' DA HGY PR
i) Oy dord Tamo 66\08 pdvoairas DNA Feddssiy aoarhd
(i) 90 Ard86 Surere) Aot HAxAHIAR 68T\ IO 586" BT ER0g"s 90300V
D00t
(i) £road8od AF Hodiol” Wit 30 Yxdyodiras DTy ey Ardw S
U QothuE-aN
Options:

(i) & (ii)only
1 % (i) & (ii) S

(i) & (iii) only
5 % (1) & (iii) 2078

(ii) & (iii) only
L (ii) & (iii) 2rad

4 o (1), (i) & (iii)
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Question Number : 39 Question Id : 8135613239 Display Question Number : Yes Is Question
Mandatory : No

Assertion (A): Bioremediation 1s the use of microbes to remove toxic substances

Reason (R): Certain microbes are present naturally in the sewage which help in sewage treatment

dydo (A): :wi&e&;:_)w&a &H0Irot) JRRPOSN .‘.:'Sg'um 9 0ot o) LAITrGAGAIrAR Botrd)
S0 (R): §3) rg) o diruomd S A God swdorh OB 308 Sabiiod) Sy

Options:
A 15 correct but R 1s wrong
1 % ARVGIA 57 R b5~

A 1s wrong but R 1s correct
, x A V057 57 R 2THS

Both A and R are cormrect
L v A 208010 R e ot 2FHD

Both A and R are not correct

4 A 208050 R e Tl 23D ™)

Question Number : 40 Question Id : 8135613240 Display Question Number : Yes Is Question
Mandatory : No

The purpose of biological treatment of waste water is to

20D ding), TR Do BIS pAIrae?

Options:
1.
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Reduce BOD
BOD éQ@.}o&

Increase BOD

, % BOD D Dotoetood

Reduce sedmmentation

D IEI BHS
3. % n=

Increase sedimentation

4 x OOT BB/ Dothood

Section Id :

Section Number :
Mandatory or Optional :
Number of Questions :

Section Marks :

AP EAPCET 2021

Zoology

81356172
2
Mandatory
40

40

Enable Mark as Answered Mark for Review and

Clear Response :

Yes

Question Number : 41 Question Id : 8135613241 Display Question Number : Yes Is Question

Mandatory : No

The third name 1in trimomial nomenclature 1s

ST TASGS” 2rEDd Do BIY DFIWR?

Options:

AP EAPCET 2021
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Subgenus
6D DI

Species

Sub species

, o EOTD

AP EAPCET 2021

Question Number : 42 Question Id : 8135613242 Display Question Number : Yes Is Question

Mandatory : No

Two animals belong to the same Kingdom but different classes. They may belong to the same

Toth) 20800 28 T30l D B DeTVL Dodda. 6D 28 651 & Dot

Options :
Species
23

1, %

Phylum
200

Division

33@3)2,7%::

Order
S0

AP EAPCET 2021

-

el

collegedunia:

India’s largest Student Review Platform



AP EAPCET 2021

Question Number : 43 Question Id : 8135613243 Display Question Number : Yes Is Question

Mandatory : No

All the species of a genus possess the same

08 DBGS” (L B AL W8 BSOD

Options:

Genetics

- 20D

Anatomy
| woéﬁ‘lv“&mn

Ancestory

. :25065530.)

Karyotype

4,

. £arE Ave SNCL T

€9 SotTroN.

Question Number : 44 Question Id : 8135613244 Display Question Number : Yes Is Question

Mandatory : No

Coelomate animal where Blastopore develops info anus is

S0t T U8 g Gogio (P’ T'6) AP LD3H Bod A IO6TE AP

Options :

Deuterostomate

v &5&0&3 SA0DTERD (msebggm)
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Blastosomate

(200 00 S TS
2. B SRS

Protostomate

L % TOWS Jwacrden (TSP 200)

Blastomere

S pSgetlentls

4. %

Question Number : 45 Question Id : 8135613245 Display Question Number : Yes Is Question
Mandatory : No

Triploblastic animals have primarily

BRV0G 2HeD FrGaSorT D £dhcotran?

Options:

True coelom
1 % Dz 306 L3060

Sexual dimorphism
> % Dol DEBGd0

Bilateral symmetry

L B5F 0, Fide

High regeneration power

| OO50S DIWSD 38
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Question Number : 46 Question Id : 8135613246 Display Question Number : Yes Is Question

Mandatory : No

Cold blooded animals fall under the category of

B0 6F 2080 $08 TS’ B SoBdL SJrow?

Options:
Endotherms

©od0R Pew

Thermophiles
x OO5R 2w

Ectotherms

5 T (R Epew

Psychrotherms
_ PEaG

Question Number : 47 Question Id : 8135613247 Display Question Number : Yes Is Question

Mandatory : No

Which of the following features is not present in the phylum *Arthropoda’

308 Joe5e5° ugﬁ"w &80 5D

Options:

Metamorphic segmentation
. PDPoE DT[N0
1. ® [

Chitinous exoskeleton
5O A0S erdfiudoado

2. 3

AP EAPCET 2021

[ ]
gcollegedunlaa
India’s largest Student Review Platform

el



AP EAPCET 2021

Jomted appendages
s 2 Sy $9AD edrorren

Parapodia

2 7 3‘6;\5 3’5"&1)

Question Number : 48 Question Id : 8135613248 Display Question Number : Yes Is Question
Mandatory : No

Which of the following is not a characteristic feature of sponges?
$0d T°S" RDoBSL VLm0 ST

Options:
Cellular level of organization

g6 DA .‘.3535’35093
1 % ® @

Body supported by chitin
5 Se3 b Ao

Intracellular digestion
Serodh) 26800

3. %

Presence of ostia

o SOe(ADETD £dAG oL

Question Number : 49 Question Id : 8135613249 Display Question Number : Yes Is Question
Mandatory : No
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‘Lasso’ 1s a structure found in

' @ Aoy e ) 6 SADE?

Options:
Nutritive muscular cell
| % JRNS S0kl Sevo

Epithehal muscular cell

5 % GSY® Sokl Sto

Nematoblasts

5 o QA& erD

Nerve cell

4w TGSe0

Question Number : 50 Question Id : 8135613250 Display Question Number : Yes Is Question

Mandatory : No

‘Dicondylic skull” is characteristic features of

‘as7oads B’ D Bpo Bws), VLo’

Options:

Reptilia and Aves
ROJren Adain HELLD

Amphibia and Reptilia
., BB0DTTTLD BAIL DORTe

Aves and Mammals

5 % DLW HBAKD 26T

AP EAPCET 2021
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Amphibia and Mammalia
s GBODBTRO 20BOKO 2607

Question Number : 51 Question Id : 8135613251 Display Question Number : Yes Is Question
Mandatory : No

Larva of Balanoglossus is

$od 7S’ BVITRD AWE), VT

Options:

Tadpole
er&ED'S

1. %

Tomana

> EJ"élBOdJ"

Muller's larva

20 rTT
;. u SORO oy

Valrus larva

TS0 T
4, %

Question Number : 52 Question Id : 8135613252 Display Question Number : Yes Is Question
Mandatory : No
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Match the following related to caudal fins of fishes

Types of caudal fins Character Example

a) Homocercal 1) asymmetrical both externally p) Shark
and mternally

b) Diphycercal i) vertebral column extends into q) Flymng fish
the larger ventral lobe

¢) Heterocercal 1) symmetrical externally and r) Catla
asymmetrical mternally

d) Hypocercal 1v) symmetrical both externally s) Latimeria
and mternally

B0 QY TEV Notiodow) S0 VLTV BBOGN0G

DE\TH 650 vEno GO ron

a) wdrd 1) PGSorT, Godddor p) orf),
QTR0 BRSO GobTon

b) RS 1) $3doto bgén" &) &G0 q) A0 DD
D TEo woDSE'S DORA

¢) dRd lii) erjore 3“%\3{:, ©od0dor 1) &3y
QTR0 eJDdo

d) gﬁ“’oﬁbé 1V) ERIF{OrT, Bodddomad 3‘?‘.&.‘50 s) erddddosr

Options:

1% (a—iv—r),(b—iii—s),(e—ii—p),(d—i—q)
, ¢ (a—iii—r),(b—iv—s),(e—i—p),(d—ii—q)
3 » (a—iv—r),(b—iii—s),(c—i—-p)(d—ii—q)

4 » (a—iv—s),(b—iii—r),(c—ii—p),(d—i—q)

Question Number : 53 Question Id : 8135613253 Display Question Number : Yes Is Question
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Mandatory : No

Assertion (A): Symmetrogenic binary fission takes place in paramecium
Reason (R): The cytopharynx of the parent 1s retaimned by the proter

TGS (A): DEDLALHS" V2GRS BTG 2OMBIE
s°6reo (R): D06 &8 £ 0ol S8R Tocdhood

Options:

Both A and R are correct and R i1s the correct explanation of A
A 508030 R e Godcr 26 000, R @938 A 8§ 209008 D566

1. %

Both A and R are correct and R 1s not the correct explanation of A

5 % A 200030 R 20 Gl 20 290038). R 938 A S 20809005 05068 S°C0

Both A and R are wrong

2 % A 5080350 R e Gottr 2BID S°d

A 15 wrong but R 1s correct
s A 285D 5° R DTS

Question Number : 54 Question Id : 8135613254 Display Question Number : Yes Is Question
Mandatory : No
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Match the following related to evolution of Pseudopodia?

ListI

List IT

List 11

1)  Lobopodia

a) Net-like

p) Actinophrys

it) Filopodia

b) Sun ray-like

q Elphidum

1) Refuculopodia

¢) Blunt finger like

1) Euglypha

1v)  Axopodia

d) Fibre-like

s) Entameoba

$ob 0" DEr{rEen HBod RN AArT TV SrES SUNSVR Joos Boted”

031 DB 95111
i) &'Edar a) oS esdo ERNRRR
i) HEYeawr b) #ard; $ot0 erot) Q) D%dcﬁm
i) OO IDr | o) Awdd Sderet) 1) obrfd
iv) 98\ dair d) Bodudrd s) aomsaw

Options:

, u (i=c—r),(ii—a=s),(ii—d —q),(iv—b—p)

, x (i—c—s),(ii—a—r),(ii—d—q),(iv—b—p)

, »li—e—s),(ii—d—r),(iii—a—q),(iv—b—p)

, % (i—c—s),(ii—d—q),(iii—d—r),(iv—b—p)

Question Number : 55 Question Id : 8135613255 Display Question Number : Yes Is Question

Mandatory : No
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The interval between the first entry of plasmodium nto the blood of man in the form of

sporozoites and its second entry in the form of cryptozoites is called

FJ) dao DG JFaront drded” ArdC 6508°A8 DTN BRI
Oo&iB S0t G50’ B8 S0 DD S0

Options:

Incubation period
| x 60 s"vo

Latent period
5 % T80t5 HBALE

Prepatent period
% 230363085 S*00

Window period
4 % Dol HBoE

AP EAPCET 2021

Question Number : 56 Question Id : 8135613256 Display Question Number : Yes Is Question

Mandatory : No

Hormone produced against allergic reaction is

DETES DR H(ABST GID BODWED FE)S

Options:
Glucocorticoid
ar§ seOs anéy

1. %

Mineralo corticoid

| I6S” sm8smonly
2. % ®

AP EAPCET 2021
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Nor-epinephrine

3 % 0 DD

Epinephrine

o o DIBS

Question Number : 57 Question Id : 8135613257 Display Question Number : Yes Is Question
Mandatory : No

Which of the following statements are correct related to Entamoeba histolytica’
1) Trophozoite 1s most active, motile. feeding and pathogenic
11) Presence of ‘RBC in food vacuoles” & cartwheel shaped nucleus are the features of trophozoite
1) Precystic stage is the pathogenic stage of Entamoeba
iv) The trophozoites ‘dissolve” the mucosal lining by histolysin and cause ulcers
v) Tetra nucleate cyst of Entamoeba lustolytica are infective to female culex

Jotsee DS Rotioflo) Sofd & e HOID?
1) Jae of oror b3, B Jag Mdakw T(BSYS ¢, Wb G §y o,
e 006" A3FoB
i) e3:t0 B368° RBC &otito, iodt t380 &rot) Sofiso Gotibo RS 8 HBowy) vEmw
i) P68 % 6% {6 $Bod Jotise 08, ¢53
iv) g dpew TIDS § Ky Rod) £8hodd Yok DG
v) dotioer s ciug), o o §%o e &r(O8, B Dogdood ¢

Options:

Except (iii ) and ( v ) all are correct
. (i) 208aso (v) 82y, DABID €9y DBH.

Only (i) and ( ii ) are correct
, o SO0 (i) S0dako (ii) Arad 2o0D.
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Except ( v). all are correct

L (V) 80y, DAV ) HFID.

Except (iii ), all are correct

, w (i) 8y, DoABBD ) 23D.

Question Number : 58 Question Id : 8135613258 Display Question Number : Yes Is Question
Mandatory : No

In cockroach. the oothecae are formed by secretion of

5" Bo8 Sotd 1EEWe O oren FISV VD BTG

Options:

Collatenal gland

- EerBoieS (fodoen

Mushroom gland

\ :agﬁ“aam e55°00) (od

Phallic gland
3 % bbg (fo&

Conglobate gland

4 % S‘nf_fﬁﬁgu@

Question Number : 59 Question Id : 8135613259 Display Question Number : Yes Is Question
Mandatory : No
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In the given diagram of ommatidium of cockroach. Identify the

parts labelled 1,2, 3, 4,5, 6 and select the correct option?

& Sods ‘Et)sm&é & QoS QT 080 DLAVNM 1,2,3,4,5,6

PO HBow) NN VAFETHHAN Jos Bodot.”

Options:

| - Cone, 2 - Corneagen cells, 3 — Comea, 4 - Retinal pigmental sheath. 3 - Rhabdome, 6 — Nerve fibers
| - B020, 2 - 05006038 STen. 3 - 05000, 4 - 3800 368 Ferb. 5 - Hom0S Goco,

5 6 - TSR

| - Cornea, 2 - Corneagen cells. 3 - Cone, 4 - Retnal pigmental sheath. 5 - Nerve fibers. 6 - Rhabdome
1 - 30850000, 2 - 0800 T8 S0, 3 - Soan, 4 - S0 368 S 5 - TedodoPe

0 - DT 08 Gotio
2. % =

| - Comea, 2 - Cone, 3 - Comeagen cells. 4 - Retinal pigmental sheath, § — Nerve fibers, 6 — Rhabdome
| - 0850000, 2 - 30a. 3 - NGOLS T\ B8 S0, 4 - g0 368 FExD. § - Tdedoen.

3 % 6-00308 Goco

| - Cornea, 2 - Comeagen cells. 3 - Cone. 4 - Retmal pigmental sheath. 5 — Rhabdome. 6 — Nerve fibers
| - B08dte0. 2 - JogH0d’ \GS SETRD. 3 - F0a0). 4 - AR 305 S QM. 5 - DTrHES oo,

i 6 - T Sod0PHW
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Question Number : 60 Question Id : 8135613260 Display Question Number : Yes Is Question
Mandatory : No

Which branch of ecology deals with the study of changes in population sizes (population

dynamics) over a period of time?

w8 K S0t TR HOATR0 (BT AdTud) & 208 ArEOR0 O ATIORTR
T D01008?

Options:
Population Ecology

2T ST 0T Do
1. ¥ <

Autecology
, ¢ VOSOR

Synecology

L x DOSOR

Statical ecology

_ oS BI"DCRTRo
4. % <

Question Number : 61 Question Id : 8135613261 Display Question Number : Yes Is Question
Mandatory : No

Which of the following 1s the way to control vehicular air pollution in Indian cities?
& 8o Y D) (T er68 ATed T S $9A rd () daoGowdidy?

Options:

Use of unleaded petrol or CNG as fuel

i R0 T D’ Tt For CNG RoBSorT avctso

AP EAPCET 2021 _
collegedunia:s
India’s largest Student Review Platform

el



AP EAPCET 2021

Increase the production of vehicles
TTTO GS\O Dotdko

Cut down all the plantations

5 x DO DAV HOSDaEo

Never use any petrol or diesel vehicles

o D5’ Sor Aae TrTren RPOT TEsd o

Question Number : 62 Question Id : 8135613262 Display Question Number : Yes Is Question
Mandatory : No

Secondary productivity 1s the rate of formation of new organic matter by

BL80D 6E° BT §8 S6)S DT D6\BBED

Options:

Parasites

- :'Jo‘élé.‘;)_)w

Consumers

% DO oD

Producers
eé_)awd)w
3. % e

Decomposers

in Daaéels'"d)w

Question Number : 63 Question Id : 8135613263 Display Question Number : Yes Is Question
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Mandatory : No

Match the following?
ListI List IT
1)  Euryhaline a) Tolerant to wide range of temperatures
1)  Stenohaline b) Restricted to a narrow range of temperature
i)  Eurythermal ¢) Tolerant to wide range of sality
iv)  Stenothermal d) Restricted to a narrow range of salinty
S0 T8 BBHGHC
91 11
] a
) Tjos LIRS 1) wa6s adder A S8 ddo
i) e vieae b) oy ador Ardoywi 3608 o
i) Qr8e6)® ¢) waBs VIBONT SrEHURY B0 Bco
V) DS66)8 d) Ly LdEHE" SR 8608 Sdo
£ 4]
Options:

, x (i—a), (ii—b), (ili—c)&(iv—d)
, v (i=¢), (ii—d), (iii—a)&(iv—b)
5 x (i—¢), (ii—b),(ii—a)&(iv—d)
, x (i—a), (ii—d), (ii—c)&(iv—b)

Question Number : 64 Question Id : 8135613264 Display Question Number : Yes Is Question
Mandatory : No
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Assertion (A): Ammonia 1 first oxidized to nifrites by Nifrosomonas bacterium

Reason (R): Nitrites are further oxidized to mitrates with help of Nitrosococus bacterium

TG (A): oderr 35Tarard ergbotr 6] Su L) o 88360 Sod FOHeUT Ardssd
560 (R): DEVEED 03 erddatr wiFabod D5 209 1438630 S0 T Srdrod

Options:
Both A and R are correct and R 1s the correct explanation of A

;% A 08030 R a0 Soir 28 005). R 0938 A § 28000 D566

Both A and R are correct and R 1s not the correct explanation of A

5 % A 2008030 R 2 oy 20 00050). R @998 A 8 200900 235068 S°¢

A 1s correct but R 1s wrong
3 ¢ A D0 57 R 2oz

A 1s wrong but R 1s correct

4 % AROETE 5 R 2608

Question Number : 65 Question Id : 8135613265 Display Question Number : Yes Is Question
Mandatory : No
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Which of the following statements are true related to ecology? The correct statements
1) Ecologically. habitat 1s the place in which an organism lives
i1) Niche is the functional role of an organism in an ecosystem
1i1) Population 15 a group of organisms of the different species in a specific area at a specific time
1v) An ecosystem is a functional unit of the biosphere

v) Ecological organization consists of nne integrative levels. ranging from cell to ecosphere
BI6HT TS VotoBot) S D PSLALD AT’
) S0 SR Do 200 Adod 28 WS FoTd) VTR Gotrdd
1) w8 DAracd’ dHen (o Saird)s I8 Al otrd)
i) :ngg@a 5008, :}g‘g BT00" Gol D) 2SS Do &PV VD) e
(L1 UayoN)
Iv) 66 :55;51‘% 230 ¢o 011)5[, écﬁféés QDeIt0
V) ETd6m aﬁagsm‘ a0 o) wE DY 368 §y6 v SO0 &) O
Options:

All are correct
| x O DSLIW R0RD.

Except ( iii ). all are correct

, 5 (iii) 82y, ADID ) w2,

Except ( v ). all are correct

Ly (V) 80y, D0ABRD ) ©3D.

Except (iii ) and ( v) all are correct
4 o (i) 208050 (v) 8y, DADID ) DI,

Question Number : 66 Question Id : 8135613266 Display Question Number : Yes Is Question

Mandatory : No
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In lungs. the atr 1s separated from the venous blood through

E83%00 Dot D B TP(T° NO° 650 Aole DEXDCTILIEIW?

Options :

Squamous epithelium + Tunica media of blood vessels

. % V) 0 GDSY + 05" AINE), DG[SotSe

Squamous epithelium + Transitional epithelium

5 VYL GOV + DOIOR &DSY

Squamous epithelium + Endothelium of blood vessels

5 v IR DY + OETVR Dol &0 (e2036000)

Transitional epithelium + Tunica externa of blood vessels
4 % DODOR &DEV + 05T°¥o a3s), m“:?!ssnﬂbéo

Question Number : 67 Question Id : 8135613267 Display Question Number : Yes Is Question
Mandatory : No

Assertion (A): The eutrophication of water 1s attributed to nifrates and phosphates

Reason (R): They are the chief plant nutrients

TER (A): NOS° ArE HEIS 26AEIS T°6m0 HET| BA Tk SwnTd
s°6te0 (R): 093 Horad 8 Tz

Options :
Both A and R are correct and R 1s the correct explanation of A

;% A B0 R a0 Totr 20 o). R 038 A 8 28000 D508

Both A and R are correct and R 1s not the correct explanation of A
, o A 08 R e Botr 20 22000). R 938 A S 2809008 S0 57D
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A 1s correct but R 1s wrong

5 x A RO 5°~ R 20570

A 1s wrong but R 1s correct
. A D05 57 R 20/

Question Number : 68 Question Id : 8135613268 Display Question Number : Yes Is Question
Mandatory : No

Which one of the following 1s not normally excreted in urine?

S8 TS DB FTGeIoNT LFBI LT DRBorserced?

Options :

Haemoglobmn

i FArH DD

Uric acid

o30S es20
2. % -

Ketone bodies

L x S6°S 85w

Hippuric acid

4% TR 0S &0

Question Number : 69 Question Id : 8135613269 Display Question Number : Yes Is Question
Mandatory : No
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List1 List II
1) Fishes a) Incompletely divided ventricle
i) Reptilia b) Branchial heart

1) Amphibia

¢) Incomplete double circulation

iv) Mammalia d) Four chambered heart
$0& T 2BDGWE.?
1 o I
1) Bdw a) FESoT BB DoB 2608
i) WORTew b) 2T oo
1) &Zodoren ¢) BR0PY B PVGE
iv) oo d) 4 ficoe Pydaio

Options:

. v (i—b),(ii—a),(iii—c) & (iv—d)

, % (i—¢),(ii—b),(iii—a)&(iv—d)

5 x (i—b),(ii—d),(iii—c)&(iv—a)

4« (i—b),(ii—c),(iii—a)&(iv—d)

Question Number : 70 Question Id : 8135613270 Display Question Number : Yes Is Question

Mandatory : No

AP EAPCET 2021

[ ]
gcollegedumas
India’s largest Student Review Platform

el



AP EAPCET 2021

Match the following related to nephrons’

Character Cortical Nephrons Juxtamedullary Nephrons
1) Number a) Absent or reduced p) Well developed
1) Loop of Henle b) Very little into medulla q) Fewer
u1) Loop of Henle extends ¢) Majority r) Long

1v) Vasa recta

d) Short

s) Deep wto the medulla

S)57,0% Potiolot) Sol T 2EDGC.

vEo 300 AT TRV
i) #on 1) Oslace Oor Sddoisclo | p) ePT i Bosd
i) R 3o b) ¢34 §8 erio Q) Ay
il) ) 3o oo ¢) ©dg ) Jem
V) TR0y d) ¥y ) ddo0ds
Options:

, u (i—=e—q) (it—a—p), (li—-d—z), (iv—b—3s)

, % (i—e—q), (ii—d-r), (ii—a—p), (iv—b—s)

3 ¢ (i—=e—q), (i—=d—r), (iii—b=38), (iv—=a—p)

4 8 (i—e=r), (t—d—q), (ili—b—s), (iv—a—p)

Question Number : 71 Question Id : 8135613271 Display Question Number : Yes Is Question

Mandatory : No

It 1s much easier for a small animal to run uphull than for a large animal. because

D) 20B0YL DA 2oBYL ST) WLZHOT AN BTV HIASAVY. B3 (v 5680
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Options:
Smaller animals have a higher metabolic rate

- D) 2oddDUS" VHS BIFAIT T SV

Smaller animals have a lower 0, requirement
5 % DR 2eBVHVL B8 S BS1D BIV00 M

It 1s easier to carry a small body weight
5 % B8 S o W ATe Vo) 31)0&35&)0 Ao

The efficiency of muscles in large anmimals 1s less than the small animals

| v DB BoBODY Soc0 TGN DY) BoBIPL Soff B8,

Question Number : 72 Question Id : 8135613272 Display Question Number : Yes Is Question
Mandatory : No
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Match the following about cranial nerves and choose correct combination?

Cranial nerve Structure
i) Oculomotor a) Superior oblique muscle
i1) Abducens b) Lateral rectus muscle
i) Optic ¢) Inferior oblique
iv) Pathetic d) Superior rectus muscle
e) Retmna of eye

STFOTEOVE) WotoBot) 08 T BBHEW WOH VATFT IR dos Boked?

g0 Té oy 20
) A8 g 1) G OV Sotibo
i) e9RIRDy b) &0;5 208 Sotdo
iii) Gy c) Q) BIIN
V) eRzrd d) e, awer €odido
e) Sotd&5°D BT

Options :

. x (i—e),(ii—d),(iii—a),(iv—b)

2.V (i—d),(ii—b),(iii—e),(iv—a)

3. % (i—c¢),(ii—d),(iii—a),(iv—e)

4 % (i—b),(ii—c),(iii—d),(iv—a)

Question Number : 73 Question Id : 8135613273 Display Question Number : Yes Is Question

Mandatory : No
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On the basis of heavy chains immunoglobulins are classified into how many types?
POV ATt BTG mﬁn&Sﬁ w&% O ) G5 ;5§560t:°d:?

Options:
1.% 4

Question Number : 74 Question Id : 8135613274 Display Question Number : Yes Is Question
Mandatory : No

Recognize the figure and find out the correct matching related to
location of endocrine glands?

oSS (fodw g":‘\‘)o.‘\')s.) 02)0800R DR {80t

PTPOR) S N0k

Options:

| - Pituitary. 2 — Thyroid. 3 — Adrenal. 4 - Pancreas. 5 — Testis. 6 — Ovaries

1 -Sahrd foB. 2 - Brrond (o8, 3 - 8BS 0B, 4 - §avo. 5 - anden, 6 - DabTew
1. 8 e *" <

2. ¢
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| - Prtuttary. 2 - Thyroid. 3 - Pancreas. 4 — Adrenal. 5 — Testis, 6 — Ovartes
| - Dosoriy (o8, 2 - BoaE (oB. 3 — Eidoo. 4 — 0B ob. § - e, 6 - DafTew

| — Thyroid. 2 — Pituitary, 3 —Pancreas, 4 — Adrenal. 5 - Tests, 6 - Ovanes

- | - B0 o6 (o8, 2 — DA o 3 - Eidoo. 4 - Eo 0BG o 5 - 0. 6 - g AR A0

| - Pituitary. 2 — Thyroid, 3 — Pancreas, 4 — Adrenal. 5 - Ovanes, 6 - Testis
. i SO 108, 2 - Forané (fod. 3 - Edvo. 4 - 0B (B, 5 - g DasSTen. 6 - 0 w

Question Number : 75 Question Id : 8135613275 Display Question Number : Yes Is Question
Mandatory : No

At what stage of life 1s oogenesis mitiated 1 a human female?

DD NUS” WokadBVo B EDBS” D $3S° JBoLBAR?

Options:
During menarche

- o 6
| % daenosv D030

During menopause

, x G080 DES DB0oIS’

During birth
3 % &D&oﬁ)a‘) DS’

During embryonic development

2o DHB DHORS”
4.9 =

Question Number : 76 Question Id : 8135613276 Display Question Number : Yes Is Question
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Mandatory : No

Match the following?
Column I Column II

1) Male reproductive organ a) Semen

1) Site of sperm maturation and storage b) Seminiferous tubules

i) Unit of testis ¢) Testis

1v) Substance cpmaim'ug sperm and d) Epididymis

other secretions
Sofd SMAV BADONC?
oD 1 S 11
) QYOR DS wdaDd0 a) #so

1) PESETL 20050 dokw .005

b) #Eoryce P50
G0t DB

i) sy, DATETD ¢) anﬁ"(,w

Iv) B0§SETren B0 RAG FT O
$OR &ol :mgn

Options:
. u (i~} i—a),(ii<h ), (iv—d)

, % (i—a),(ii—b),(iii—c),(iv—d)
3 o (i—¢),(ii—d),(iii—b),(iv—a)

4 % (i—d),(ii—c),(iii—a),(iv—Db)

Question Number : 77 Question Id : 8135613277 Display Question Number : Yes Is Question
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Mandatory : No
‘PMS" stands for

‘PMS’ oo

Options:
Primary Micro Sporogenesis
D206 E FFEIDD

Premature Menstrual Syndrome
| 20UrE ARDS DoEDd

Primary Menstrual Syndrome
| P08 0R0R0DS Dol

Pre-Menstrual Syndrome

2 AXNSS Dol
4.v =

Question Number : 78 Question Id : 8135613278 Display Question Number : Yes Is Question

Mandatory : No

ZZ | ZW type of sex determination is seen in

ZZ | ZW 6So ofi rces S0& T73¢5" BJaD0 SALRE?

Options:
Platypus
_ OO
1.8 =

Peacock
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Cockroach

AR~
4.% O

AP EAPCET 2021

Question Number : 79 Question Id : 8135613279 Display Question Number : Yes Is Question

Mandatory : No

Match the following?

List I

ListII

1) Pleiotropy

[n a heterozygous organism both alleles express themselves
fully

it) Epistasis

Many genes governs a single character

i) Incomplete donunance

A single gene mfluences many characters

1v) Polygenic mheritance

One gene influences the expression of other gene

| ¢) Heterozygote i itermediate between homozygous
v) Co-dommance
phenotypes
S0 T3 2806G0E]
b1 By
a) ok 2" Gok asur) Jser\wy QPO go
w::sdn.
l) JOFRR b) &8 Ao w8 vitio & Perdde BokGo.

i) R0 uﬂyg 330

8 ) BRS VLV Pirddo BabiGo.

Iv) WY SR 80953

8 BN B0 BRYY SS0nY PErddo Babico.

V) i i

ook ciy¥ Grar8 ot o
Goblod.

Options:
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1 Ci=e) (i —d), (i —p) (ivr—-k),(v—a)

> % (i=b),(ii—a),(ii—d),(iv—=c),(v—e)

, x (i=b),(ii—d),(iii—a),(iv-c),(v—e)

4 % (i—¢),(ii—a),(iii—e),(iv—b),(v—d)

Question Number : 80 Question Id : 8135613280 Display Question Number : Yes Is Question
Mandatory : No

Study the following related to ‘Cancer’. The correct statements are

1) Normal cells are jomed by intercellular adhesion proteins called ‘Cadhenns’ and they are missing in
cancer cells

ii) The protein P** plays an important role with reference fo the ‘G1 check point” in the regulation of
cell division cycle

1) Cancer cells shows a phenomenon called ‘Contact mhibition’

1v) Malignant is harmless cancer

v) The retinoblastoma protein p®? is a ‘tumor suppression’ protein that is dysfunctional in several

Il]EIjDI' cancers

5010 € PotioBod)d $ofd TR ciod.. AN RATTFRo Jows Babod?
) Areron STey odtsn 2 TERPN 3565 0 edsucaay. 9,0 swod’ @) 6D,
i) $ad82 o dabogdind’, P TS G1 638 Docio) 3¢ &7 306" 9w @ 3irinod.
) 57, St 0,0, Ao & fica0srd) DB Faw
iv) S8 ot D 56,
v) PR ol e S 60 enddh JS e 570\ 06" 9 Sairdirdar éotiod.

Options :
All are correct

i ) PSOJD DJVD
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Except ( iii ) and ( v ) all are correct
, e (i) 208a0 (v) 82y, DABID 00y 2pHD

Except (i) and (iv ) all are correct
o, (1) 2080i (iv) @2y, DABRD ) DD

Except (iii ) and (iv) all are correct

(iii ) 208050 (iv) ) 8y, DADID 9y LTI
4. J a

Physics
Section Id : 81356173
Section Number : 3
Mandatory or Optional : Mandatory
Number of Questions : 40
Section Marks: 40

Enable Mark as Answered Mark for Review and

Yes
Clear Response :

Question Number : 81 Question Id : 8135613281 Display Question Number : Yes Is Question

Mandatory : No

Einstein was awarded Nobel Prize tfor:

DIDIL TBS TVS BAS” VDDIB?

Options:
The theory of relativity
L TDET DTrodAD
1‘ o (]
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General theory of relativity

5 % AT FDLE” TSI

Brownian motion
3 APt ler b ISR ATIEFub S

Photoelectric effect

- %5 3@55 5O

Question Number : 82 Question Id : 8135613282 Display Question Number : Yes Is Question
Mandatory : No

What is the number of significant figures in (3.20 + 4.80) X 10° ?
(3.20 + 4.80) X 107 &" Jgs Doa(S" Dowdfen ) ?

Options:
1.8 2

Question Number : 83 Question Id : 8135613283 Display Question Number : Yes Is Question
Mandatory : No
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v

The velocify-time graph of a moving object ", 4

s shown in the figure. Find 1ts maximum 80 +
acceleration? 60 4
401
SBR0D) w8 S0P awe), V-t T &
204
So0d WIDRCAR. ©0S A8 S0 3
0 . R —
0
SO S0 o T
Options:
: u % wma
, ¢ 6 m.s™?
3. % 4 l’n.s-z
4 % 5 ms?

Question Number : 84 Question Id : 8135613284 Display Question Number : Yes Is Question
Mandatory : No

If @ =37 ~5] +2kand7 =51 ~ 6] +6k. then find linear velocity

W=31-5]+2k 28007 =51 —6] +6k eond 5o a0

Options :
. »—181 -8 +7k

, x —181 —13] + 2k

;% 41 —13] +6k

AP EAPCET 2021 .
collegedunia:s
India’s largest Student Review Platform

el



AP EAPCET 2021

4% 61—2] +8k

Question Number : 85 Question Id : 8135613285 Display Question Number : Yes Is Question
Mandatory : No

A bomb 1s dropped from an aeroplane flying horizontally with a velocity 720 kmph at an
altitude of 980 m. The bomb will hit the ground after a time:

980 m Ao &vodt 720 kmph 6208 $82 DATBEANT HAITERI) DR Kol
28 EPOLDA) 2P0 DETFR. Jodd NAODAN ST 98 HraN B ?

Options:

1.% 1s
3‘\? 14.158

Question Number : 86 Question Id : 8135613286 Display Question Number : Yes Is Question
Mandatory : No

Passengers standing in a bus are thrown outwards when the bus takes a sudden turn, This happens
because:

w8ty BEF ST S0y GBS & LRV HolrHsRD LODLS JBSDLETD. &
QOB oSN BEMBIR?

Options :
ourwards pull on them

| % S0 OO el
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Inertia

&G‘.ésm)
.

change 1n momentum

i BS(DED0S5° Bo°Cdy

change 1n acceleration

4w B50REN &' ardoy

Question Number : 87 Question Id : 8135613287 Display Question Number : Yes Is Question
Mandatory : No

A hammer weighing 3 kg strikes the head of a nail with a speed of 2 ms™ and drives it 1 om

into the wall. The impulse imparted to the wall 1s

3 kg w0R) w8 WAE D dup 2ms™! Shdwd EBAY W, Do Hée™d8 1em
el e, eowd Ht) wodBonds HE'GHin Jod?

Options:

2 % 3 N S

3 x 2Ns

Question Number : 88 Question Id : 8135613288 Display Question Number : Yes Is Question
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Mandatory : No

A wire of length * L suspended vertically from a rigid support is made to suffer extension * [’
m its length by applymg a force * F . Then the work done 15

L7 TG 0 w8 M ¢yEaond Brrtin Aot AVYT SUadood. | F ed
werd) DOIrAouT OieS” rrdv ‘| * wowd, 20A% DI

Options:
1.« 0.5 Fl

2. % Fl

4, % FL

Question Number : 89 Question Id : 8135613289 Display Question Number : Yes Is Question
Mandatory : No

A body of mass 3 kg 1s under a force. which causes a displacement 1n the body given by s =

¢3
F (in meters). Find the work done by the force in the first 2 seconds.

[.3
3 kg @303 o S0P Lo DAL 30 $BA 9 Fosdw s o ().
9003 2 VS’ WAN BN HY

Options :
1.8 2]

, » 387

3 % 5.21]
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4 @ 24]

Question Number : 90 Question Id : 8135613290 Display Question Number : Yes Is Question
Mandatory : No

A force of 10 N acts on a mass of 20 kg which 1mtially 1s at rest. Find the work done by the
force during the first 3 seconds of motion.

Hioy ;p:a &' 69)20 kg @303 10 N o HABAKE) 6. €S SR Bed's
SR A 3 5P SUANY” W0 HUR BOAS DY ___

Options:

2 ® 1551]

3 o 2257

4 % 42517

Question Number : 91 Question Id : 8135613291 Display Question Number : Yes Is Question
Mandatory : No

A particle moves in a circle of radius 5 m with a linear velocity of 25 m.s™. Its angular
velocity 1s

5 m (RGN o 3B w8 Snan 25 m.s™ ddab Saawd Hairdied. ord Erab
S

Options:
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1 » B toad. 5

> % 0.2 rad.s™
3 % 10 rad.s™

4 % 0.1 rﬂd. S‘l

Question Number : 92 Question Id : 8135613292 Display Question Number : Yes Is Question
Mandatory : No

When a particle 1s moving in a circular track of radius 40 cm with a constant speed of

8m.s L. its acceleration is

40 em (g $BAD Sgsd Argand” Bm.s™! NEEE WS Sm SRS, T

Ods), B0

Options :

, x 320 m.s™

> » 120 m.s2

3 « 160 m.s 2

4 % 80 m.s *

Question Number : 93 Question Id : 8135613293 Display Question Number : Yes Is Question
Mandatory : No
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A solid sphere 15 rolling down an melined plane of height 21 m without slipping. The maximum
velocity with which it will reach the bottom of the plane 15 (g=10m.s7%)

21m 8 63) w8 T BVANP w8 WA AT 2Pt FEBD)B. T SvAL B

PAAVIL B30 208 & HYAw B2 Sefedo (g=10m.s7%)

Options:

1. %17 m.s™*

5, ¢ 10V3 m.s™!

3 % 10 m.s™

4 % 17v/3 m.s™!

Question Number : 94 Question Id : 8135613294 Display Question Number : Yes Is Question
Mandatory : No

The length of a seconds-pendulum on the surface of earth is 1 m. Its length on the surface of the

moon would be

B8 VAN Dot Susw g, T 1 m wand So@d duswD &l T

Options :

1
B
1.« 6

2. % 1m

|
3 #® 36
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4 % 36mM

Question Number : 95 Question Id : 8135613295 Display Question Number : Yes Is Question

Mandatory : No

A mass ‘M’ 1s suspended from a spring of negligible mass. The spring 1s pulled down a little and

then released so that the mass executes simple harmonic oscillations of a time period T, If the mass

" T | e .
attached 15 increased by “m’. the time pertod was observed to become: Fmdthe ratiom ¢ M.

w8 IPO0rS N)orbds) M 0 G073 HUrEabG.AB. 8 S)bRd SAr 8088 e 5603
08 T 8363 Suie" AVIrT-d)$ dode Bolidd) 8. JTrdand 33T-d M § 28aws m

oT
B33 s808, ¥AgR svA 7 CoR0. ond m: M =

Options :
1 % 9:16

, 65116
3 % 16:9

4 % 16165

Question Number : 96 Question Id : 8135613296 Display Question Number : Yes Is Question

Mandatory : No
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The orbital velocity of an earth’s satellite in an orbit is 9 km s, When the satellite is moved
to another orbit of radius 9 times the original orbit's radius. the new orbital velocity of the

satellite 18

B2 aing), 600808 HOANE' 63) 8 GHMPAN VY, gt 9 km s~ &
&OHD) DR Sefoct oS 9 Ot AGAw SBAN OIS SE(E'DS )
dodtond, 59 5556’ & GO WS, STDAK0 dod?

Options:
1 % 3.5 kms™!

5 % 72 kms™
3‘ ® 7 km S_l

i3 km st

Question Number : 97 Question Id : 8135613297 Display Question Number : Yes Is Question

Mandatory : No

The mass and diameter of a planet P are twice and thrice to that of the corresponding
parameters of earth, respectively. If the acceleration due to gravity on earth’s surface 1s

10 m.s™2. the acceleration due to gravity on the surface of the planet P is

Zirad GB(0°38 Bod) Bk, TS Ao B SHAR BN (P EHBSVIVD
AESBGR Jeod (2 g=10m.s72 m So8od)

Options:
1 x 481 ms™?

, % 981 ms™*
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3 ¢ 222 ms™?

4 % 632 ms™?

Question Number : 98 Question Id : 8135613298 Display Question Number : Yes Is Question
Mandatory : No

The area of cross-section of a wire of length 2.1 m is 2 mm®. Find the increase in its length
when it is loaded with 0.5 kg. The Young's Modulus of material of wire is 11 X 10*° N.m ™%,
(g=10ms™)

2.1m T o 28 Bf o), DA@EE T 2 mm?. & 36 0.5 kg 0
HEATAY. & A SEg0 g, aldoh MEsw 11x 10" N.m ™2, & & Ty’

DG (g=10ms™%)

Options:

1. % 0.1 mm

> » ¥7.73 pm

3 x 0.1 um

4 % 47.73 mm

Question Number : 99 Question Id : 8135613299 Display Question Number : Yes Is Question
Mandatory : No

Mercury does not wet glass. This property of mercury is caused by

60 Merd BEDEM. Bdo V), & Gj0 B JVD SBd?
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Options :
Adhesion

1 & R0 BIeTTe)

Surface tension
5 % évéé&@

Compressibility
R0
*

Viscosity

n b‘lﬁle‘.'o

Question Number : 100 Question Id : 8135613300 Display Question Number : Yes Is Question
Mandatory : No

The pressure of water in a pipe when tap is closed is 5.5 X 10° N.m ™%, When the tap is
opened. water pressure reduces to 5 X 10° N.m ™. The velocity with which the water comes
out when tap 1s opened 1s . (Density of water 1s 1000 kg m™3)

V0 AFRBDE FRAES" A cg) DEAA0 5.5 X 10° N.m ™. Swveow 8508
@ D630 5% 105 N.m™ 0 $lod. Sovmand 8608 wirdrd M aog),
50130 (D8 Fod 1000 kg m™3)

Options :

1 »10 ms™

> % 5 ms™?

3 % 20 m.s™*
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4. % 15 ?n.Sul

Question Number : 101 Question Id : 8135613301 Display Question Number : Yes Is Question
Mandatory : No

Assertion (A): A brass disc is just fitted in a hole n a steel plate. The system must be cooled
to loosen the disc from the hole.

Reason (R): The coefficient of linear expansion for brass 1s greater than coefficient of linear
expansion for steel,

A B8 (A) : 28 WEC DYy &), HYH08'D Gogidnes’ R8T Dforserc. o) @. Gogn
Aot ¥R HERLBAHETAS SR By woerd.

oA (R) : 98d a4 .335&%3 BS0 65y, 36 3“55‘:3 RS Sofd 8D,

Options :

Both A and R are correct and R 1s the correct explanation of A

5 &P A 2008030 R 2 o 00 90030, R 938 A 3 28000008 D066

Both A and R are correct and R 1s not the correct explanation of A
» A 08030 R 0 Todr 08 o). R 938 A S 2809003 50660 S°dd

A 1s correct but R 1s wrong
. A DT/B 57 R b5

Both A and R are wrong
. A 08030 R 28 2008 5°))

Question Number : 102 Question Id : 8135613302 Display Question Number : Yes Is Question
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Specific heat at constant pressure 1s greater that the specific heat at constant volume because
(Cp > Cy):

. D3 3¢ ITddw, 20 L0RBATHAN §T) I oo B8 (Cp > C):

Options :
Heat 1s used up to mcrease temperature at constant pressure
20 DA 56 &Y' DowerS SR SDATTACWLCEIR)

Heat 15 used by gas for expansions purposes at constant pressure and crease internal
energy too.

D06 HEA0 3G TaNY TEEE B0 oIS $8I EXE Do) Gl

HTob bl e LA TATAA TN
2. ¢

Heat 1s used up to mcrease internal energy
Eo@ﬁé %éa ORI VS &Zﬁ%&ﬁn [=6Tebblalel ATATAR NS

The above statement 1s mvalid

D DIBIAVOVYY By

Question Number : 103 Question Id : 8135613303 Display Question Number : Yes Is Question
Mandatory : No
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Match the following?
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Column I

Column II

(i)  Adiabatic expansion

No work done

(11) Isobaric expansion (b) Constant nternal energy
(1) Isothermal expansion (¢) Increase ininternal energy
(1v) Isochoric expansion (d) Decrease mn mternal energy
So8 TER) 2ADG0G
S0 1 ad 11
(i) e T (a) H 26
(i) Rl o6 T{EB (b) N6 wodd 38

(i) 2 e TEBID (¢) eodd 336" ddxbde

(iv) R ADBITH TS (d) odige 3¢° S

Options:
- (i—a), (ii—d), (iii—b), (iv—-rc)

» u Li=d), (H=a);, (Hi—e), (le=—b)
3 ¢ (i—d), (ii—¢c), (iii—b), (iv—a)

, x (i—a), (ii—b), (ii—d), (iv—rc)

Question Number : 104 Question Id : 8135613304 Display Question Number : Yes Is Question

Mandatory : No

AP EAPCET 2021

[ ]
gcollegedumas
India’s largest Student Review Platform

el



AP EAPCET 2021

A gas expands with temperature according to the relation V = kT%2. calculate the work done

when temperamure changes by 60 K.

ws Taio) eJdeS Eudn V= kT3 20866050 D562 S0t e 0d"
Ay 60 K 00y 2608 DA o).

Options:
1. % 10R

, % 30R

4 % 20R

Question Number : 105 Question Id : 8135613305 Display Question Number : Yes Is Question
Mandatory : No

An ice bubble of volume 1 em? rises from the bottom of a lake 40 m deep at a temperature of
12 °C. To what volume does 1t grow when it reaches the surface. which 1s at temperature of
35°C 7 (Given 1 atm = 1.01 X 10° Pa )

Lem? 2080838rnan o 26 rdadr 40 m §'80d) d6NG" 12 °C &T'd ¢ v
e ePdn oot P &S S8 8. 35 °C &0 S8 o DO, EdBSerIS
BER0S LEM DVDBATEAN Jodd S6L DEDRA0? (1 atm = 1.01 X 10° Pa e Sivs'od)

Options :
1. % 3525 X 10ﬁ6 m3

> % 4325x107°m?

3 « 9.275 X 107% m?
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4 % 6725 X107 m?

Question Number : 106 Question Id : 8135613306 Display Question Number : Yes Is Question
Mandatory : No

Twenty-five tuning forks are arranged in series in the order of decreasing frequency. Any two
successive forks produce 3 beats per second. If the frequency of the furst tuning fork 1s the
octave of the last fork. frequency of the 21°° fork is.

FH2DI[0 S 52008 MO DA $B BorrVR HEIS' 0T\ H. IPT° Tatd HER
3)B60lm DS 3 VYT GBS BT, WG 3)Bdeto 3“&::3;55&» AR

$8G0tio IRV esed)’ &), 21 S $Bcoco AVE), FRHYI[EW dod?

Options:

, v 84 Hz

4. % 256 Hz

Question Number : 107 Question Id : 8135613307 Display Question Number : Yes Is Question
Mandatory : No

If the refractive indices of flint glass for red. yellow and violef Light are 1.612. 1.620 and

1.632 respectively. then find the dispersive power of flint glass,

D), DA) 0L & GoMLS) WS :3::&.1) e os), aéa;a.‘{n 5" DN

1612, 1.620 30805 1.632. €008 2ot e 630E), DFOM &mggu dodh?
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Options:
1« 0.033

, % 0.011

3. ® 0.055

4. % 0.022

Question Number : 108 Question Id : 8135613308 Display Question Number : Yes Is Question
Mandatory : No

Calculate the fringe width obtained from a double slit apparatus immersed in a liquid of
refractive index 1.33. given it has a slit separation of 1 mm. the distance between the plane of
the shits and screen 1s 1.33 m and the shits are illumnated by a parallel beam of light. whose

wavelength n air 1s 800 nm.

098 dckey 1 mm oot DDse, 36 e Ardan 133 m SAS a8 docd Wdse
585650 1.33 S375% Aorsan DA% w8 GI308" AetsddB. 800 nm S 202w

$BA% 8 DATOS0 5708 Qouswd WLV PEFS08AN B, DB Déedy Jod?

Options:
1« 0.8 mm

> % 0.6 mm

3 % 0.4 mm

4 % 0.2 mm
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Question Number : 109 Question Id : 8135613309 Display Question Number : Yes Is Question
Mandatory : No

Four point-charges are placed at the corners of a square )

4

ABCD of side 10 em. as shown in the figure. The forceon -4 ¢ 3 uC

a charge of 1 uC placed at the centre of square 15

1 uC
[ ]
00" LﬁJ‘:JR'JQJ, 10 em ghasnmdw ABCD S0 0

3TV 96 TLurh Dot DTV &) 0. BAY Sogio

3 uc -4 uC

36 ot 1 4C 8D3300D DB WOAD dod? A B

-

Options:
1.% 7N

2. % 8N

3.% 2N

4.¢ 0

Question Number : 110 Question Id : 8135613310 Display Question Number : Yes Is Question
Mandatory : No

The electrostatic potential at the surface of silver nucleus of atomic number 47 and diameter
12.4 fermi 15

DO o[ 47 Bk TjoAw 12.4 DB $OAR Dot: Sogis &HBSVAV .E?o :Jm55
fb‘eagomei

Options :
1 » 109 %x10°V

, % 109x107V
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3 % 6.8x10%°V

4 % 23X105V

Question Number : 111 Question Id : 8135613311 Display Question Number : Yes Is Question
Mandatory : No

Capacify of a parallel plate capacitor becomes 3 times its original value when a dielectric slab

of thickness t = . 15 mserted between the plates of the capacitor of separation ‘d’. Dielectric

constant of the slab 1s

' o - d o =
d” ARG 0 SORE DuSw MG t = — el &) S BES B OIS

4
RArodd HUVSL FTHLE DL A2 DL ~ 0t erbi. ©ond B2y, aws), AdxS

B¢ :th‘uSu D0 oth?

Options:
1.% 8

) v %

Question Number : 112 Question Id : 8135613312 Display Question Number : Yes Is Question
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A battery of 54 cells each of emf 1.5 V and mtemal resistance 2 () 1s to be connected m order
to send a maximum current through a 12 ) resistor, The correct arangement has to be

12 0 ¢80 Gr(o (160 DS & DodEr8, HS AT VS woSw 1.5V dakw
©088) Bc5m 2 ) (1R 54 20EP0R0 8 er{ids DomrRBn BT, RBEHA MBS 6?
Options:

2 rows of 27 cells connected in parallel.
| % 27 DETOR 2 BER0ES” DATEBE VorTdoe Saird

18 rows of 3 cells connected in parallel.
, 3 3 2PV 18 SHH0S” HAFBE Borro Soird

9 rows of 6 cells connected 1n parallel.

L x 6 0OV 9 SEHVS" DBTeBE oo Boird

3 rows of 18 cells connected in parallel.

4 18 Dotrodd 3 SDHVS” DATBE Voo Waird

Question Number : 113 Question Id : 8135613313 Display Question Number : Yes Is Question
Mandatory : No

A magnet of magnetic moment 6 J T~ is aligned in the direction of magnetic field of 0.3 T.

The net work done to bring the magnet normal to the magnetic field 1s

61T oo, 0der 080 $DAY 2,8 Lab 08w 0.3 T 86 $9AS watd) oo
£363S" GottctdB. LS ) BOH) 08 £ HIL LoRINIT SN TS
BODIVND DA

Options:
1‘ ) 4 2 J

AP EAPCET 2021 .
collegedunia:s
India’s largest Student Review Platform

el



AP EAPCET 2021

2. % 1J

1 187

Question Number : 114 Question Id : 8135613314 Display Question Number : Yes Is Question
Mandatory : No
A rectangular coil of 100 turns and cross-sectional area 5 X 107> m? is placed perpendicular

to a magnetic field of 0.2 T. If the field drops to 0.05 T in 0.5 seconds, the magmitude of emf

mduced 1n the coil 1s

5% 107° m? Paegn 28eko 100 ot s8AG) 8 A sduors 6y il 0.2 T
A 08 SSH0S” TS VowAIT GodEAB. 0.5 SIS’ £380 0.05T & 1AT'S,
SAMEHS” HOSSA%( (LTS Lo

Options:

o % 4V
3 % 05V

4.% 3V

Question Number : 115 Question Id : 8135613315 Display Question Number : Yes Is Question
Mandatory : No
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The network shown in the figure 1s a part of a complete circuut, If at a certain mstant. the
current “i" is 5 4 and is decreasing at a rate of 10° A s7*. then the potential difference Vg, =

DRANG’ BTG 28 SVOHANG'R w8 ZPAAD. VBT VODANG” TPAES” PIarord)
e 5 A o] 20005 & DT Sedotty 60 10% A s~ wand, B 6ok 4
Dot B3] TIDE B, Vpy =

1Q 5 mH
] T
. 15V .
Options:
1. & 5V
> % 10V
3« 15V
4. % 20V

Question Number : 116 Question Id : 8135613316 Display Question Number : Yes Is Question
Mandatory : No

In a region of free space. the electric field at an instant of time is E = (B(} i4327-
64 7{) V.m™! and the magnetic field is B’ = (0.2 i 400874029 Tf) T. The poynting
vector 15 . Given magnetic permeability of free space is 4 X 1077 H.m ™.

——— e

08 DT 0BT ¥AS" DFT Do 56, xS ES SIS E = (80 1 +32 ] -
64 k) V.m ™" 20808 eaiod) 08 E830 B = (027 +0.08 j +029 k) T eond
Favotioh O3 (Boridjosrasinns” o) ed H3¥jd0e 4 x 107 H.m™)

Options:
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. x (1447 36 j) x 10° W.m™?
5 (1447 —26 j) x 10° W.m™2

, o (1146 7 —28.65 j ) x 10° W.m™?

4 % (1146 j —15.65 k) x 10° W.m™?

Question Number : 117 Question Id : 8135613317 Display Question Number : Yes Is Question
Mandatory : No

What is the dynamic mass of a photon of wavelength 1 A ?

1A 86008 B o 28 T'erS aws), Ad2 @303

Options :
-32
1 ¢ 221 X10™% kg

2 % 6.62 X 10_20 kg

. % 221 X107% g

4 % 2986 X 10732 kg

Question Number : 118 Question Id : 8135613318 Display Question Number : Yes Is Question
Mandatory : No
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An electron jumps from n = 2 to n = 4, Wavelength of radiation absorbed 1s

w8 VTR N =2 Aot n =4 § Grdod. 1008 D6 aanﬁgg%a»

Options:
16
1. % 5R

3‘¢3R

4. % 16

AP EAPCET 2021

Question Number : 119 Question Id : 8135613319 Display Question Number : Yes Is Question

Mandatory : No

The current amplification factor for common emitter arrangement 15 59. If the emitter current

1s 5 mA. then the collector current 1s

w$ &) ¢ & (CE) Dq:'oams‘ DT 5B I8 59. 66 DI 5 mA wond

886 DA

Options:
1. ¢ 492 mA

> % 692 mA

3 2 mA
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4 % 8 mA

Question Number : 120 Question Id : 8135613320 Display Question Number : Yes Is Question

Mandatory : No

Assertion (A): Modulator or encoder 1s an essential component of a transmutter,
Reason (R): The message signal has to be changed info a form suitable for transmission,

A BAD (4): HIBed CE), 2,8 A0W(ROD BN SrENTLE.
5080 (R): Rod# 2038°J) DABeD BANETAS AR ErHINS” Aroey .

Options:
Both A and R are true and R 1s a correct explanation for A

T, A 508030 R Gotor DBADAD. <8030 R 0938 A S DOADD NS0

Both A and R are true but R is not a correct explanation for A
« A 208050 R Gocr DBEHAD, SO R 938 A & 280D DD 576

2™

A 1s true. R 1s false
3 % A RBELIG, 5% R 00 57

A 15 false. R 1s true
4 % ARBSE 5 R 2OGLIE

Chemistry

Section Id : 81356174
Section Number: 4
Mandatory or Optional : Mandatory
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Number of Questions : 40
Section Marks : 40

Enable Mark as Answered Mark for Review and
Yes
Clear Response :

Question Number : 121 Question Id : 8135613321 Display Question Number : Yes Is Question
Mandatory : No

The exact path of electron in any orbital cannot be determined. The above statement is based
on

DB BB\EPS & VTN AWE), DI AT Aanowddts F[Hw S &
D000 AP

Options:
Hund's Rule
TVl AOA&AD

1. %

Bolir's Rule
5 % 86 dabawadw

Uncertamnty Principal

5 @D-?'De'.'sés ~O3 e300

Autbau Principal

4w 2 & QODNDOEW

Question Number : 122 Question Id : 8135613322 Display Question Number : Yes Is Question
Mandatory : No

AP EAPCET 2021 _
collegedunia:s

India’s largest Student Review Platform

el



AP EAPCET 2021

The frequency of radiation emitted, when an electron falls from n = 3 ton = 1. in a Hydrogen
atom would be
(Given. ionisation energy of Hydrogen is 2.18 X 1078 J /atom and h = 6.625 X 1073* I. s)

EaS D0ArmS’ n =3 988 Fow Aol n = 1.3 #8 Fan'IE TS rddydd
Deace by Do FYIok0 T8 osed? (FERS a6 3§ 218 X 10747/
atom 08030 h = 6.625 X 107* 1.5 )

Options:
1 % 2.92x10° hour™

5 % 292%107%° ¢t

3« 292 x 1015 571

4 % 292 min™

Question Number : 123 Question Id : 8135613323 Display Question Number : Yes Is Question
Mandatory : No

If an element with atomic number Z = 115 has been discovered today. in which of the

following family would it had been placed and 1dentify its electronic configuration.

Z =115 rrfiv Sureso & 6 Vel SOAREIAR. 8563 DS @ D/ Sokwotdo,

Qogﬁ D:rs?au SEwT

Options:
Boron Family: [Ar] 4% 5d1° 652 6p°
| % B0 Sdtwowo: [Ar] 41 5d'° 657 6p°

Carbon Family: [K7r] 5f* 6d1° 7s2 7p3
2. %8 5"’55«5 Sxewotio: [Kr] 5F1* 6d1° 7 g2 7P3
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Nitrogen Family: [Rn] 5% 6d'° 7s% 7p?3
3. ¢ 3_5@4&5 Sévotdo: [Rn] 5f14 610 752 7})3

Oxygen Family: [Xe] 4f1* 5d1° 65° 6p°

4% es8 2 Soewowo: [Xe] 4f1* 5d%° 6s? 6p?

Question Number : 124 Question Id : 8135613324 Display Question Number : Yes Is Question
Mandatory : No

Which order among the following is incorrect?
S0 S020WeS° DO 5P VH?

Options:

| % NH; < PH; < AsHjz : (Acidic nature) (€520 d(r580)

o Li<Be<B<C: IE (AH))

2
3 % Al,05 < MgO < Na,0 < K,0 : (Basic nature) (326 ‘:‘-'052,3".‘.5;&3),}
4 % Lit <Na* <K' < st (Ionic radius) (e2050°A8 a‘éﬁ'gn)

Question Number : 125 Question Id : 8135613325 Display Question Number : Yes Is Question
Mandatory : No
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The successive ionization energies of an element. in kJ. mol™ are 1060, 1900, 2920, 6280

and 21200. This element would belong to group-

w8 ATVER) BOHASCE o dy © Dewwde 6 s&w 1060,1900,2920,6280 Srdakv
21200 kI.mol™ . & Qresan o ArYS) Sotod)

Options:
1.¢ V

2. % VI
3. % VII

4 % IV

Question Number : 126 Question Id : 8135613326 Display Question Number : Yes Is Question
Mandatory : No

How many among the given species have a bond order of 3 ?

QIR PBOVS” oGET0SID 3 T &) D ) ?

2+

co.Not.cr .0l .cN . NO

Options:

'1.3"1
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Question Number : 127 Question Id : 8135613327 Display Question Number : Yes Is Question
Mandatory : No

Which of the following is not a correct statement?

208 TIS° DB VIO S°7?

Options:
Every AB: molecule has square pyramidal structure
1@ 28 AB:- 9808 BAVGDN) HGE €563 Gotiod

Multiple bonds are always shorter than corresponding single bonds
, B D& PoLioBoD)d DéForre) Sotd NN ﬁ‘grr &0bT0N

The electron deficient molecules act as Lewis Acids

% QTS 68 (v DD TP VPO BTV D BI"0W

The canonical structure have no real existence
5°S8S Ao7ETAS D (e od) &8 T

4. %

Question Number : 128 Question Id : 8135613328 Display Question Number : Yes Is Question
Mandatory : No

In which of the following species. the central atom has the maximum number of lone pair of
electrons?

S0l 2PBOVE” S0 DOSTEVYR (L) 2otd QOF'D 2o o, OS(BSINMT &) & 20?

Options:

1, % Sk

5> % XeF,
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3 % ClOg

4 v 13

Question Number : 129 Question Id : 8135613329 Display Question Number : Yes Is Question
Mandatory : No

A gaseous mixture contains 2 moles of A. 3 moles of B. 5 moles of € and 10 moles of D

contamned 1n a vessel. If the gases are 1deal and the partial pressure of € 1s 1.5 atm. then the

partial pressure of B will be

2 raw 4, 3 rew B, 5 drew C 00w 10 dreow D ol Ao s
T0I0ADFATY) WS TG FIS Gotrd. & TANHL YAG) TENPHY DI
¢ God, C aog), F$8 W 1.5 atm €08, B ding), FEE dEdA0

Options :
1 % 1.5 atm

> % 0.6 atm
3 ¢ 0.9 atm

4 % 1.66 atm

Question Number : 130 Question Id : 8135613330 Display Question Number : Yes Is Question
Mandatory : No
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A gaseous mixture was prepared by taking equal mumber of moles of Helium and Neon. If the
total pressure of the mixture was found to be 10 atm. the partial pressure of Helium in the
mixture is

AR o’ Arenenriv oo B0 DOLED T0)L MFAo B w8 Tk
D3| SOrGETE. @ Tab DIdo aédo 10 atm wawd, DIes” rdato
TOI0Y) FEE 96S0 dods?

Options:
1. % 1 atm

) 5 atm

3 % 10 atm

4 % 0 atm

Question Number : 131 Question Id : 8135613331 Display Question Number : Yes Is Question
Mandatory : No

Which compound among the following can act as both an oxidizing and a reducing agent?

$08 0 ¥ToL’ DO 8 S6r Sobaky LaHEse M HIBES (ukH?

Options :
1 ¢ 120

2. & 503
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Question Number : 132 Question Id : 8135613332 Display Question Number : Yes Is Question
Mandatory : No

Calculate the amount of lime, Ca(0H) , required to remove hardness of 50,000 litres of well
water which contains 1.62 g of calcium bicarbonate per 10 liters.
[Given, atomic masses: Ca — 40 ,H -1, - 12,0 - 16]

10 Bege 1.62 rradove 57osvo 5By i 50,000 Beog erd A $837D) Fehobtsy
Dodd TOAW 0 2080, Ca(0H),, SHOR?
(D688 Q:JSU‘aow: Ca—=40,H-1,-12,0 - 16)

Options:

Question Number : 133 Question Id : 8135613333 Display Question Number : Yes Is Question
Mandatory : No

When a perfect gas at 27 °C is heated. at a constant pressure. to a final temperature of 327 °C.

then the volume of the gas creases to times the original

N6 DGR B¢ w8 Do TEPW 27 °C Ao 327 °C 565 3¢ BTG NS Trakw

Q0BOBATHEN Foz LDHBATETS B8 DAAA0E.

Options :
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Question Number : 134 Question Id : 8135613334 Display Question Number : Yes Is Question
Mandatory : No

For the equilibrum. PCl; @ = PCl, @ il Ezrg af 298 K.K. =18x 107", Then, AG for this
reaction will be [ Given log4.5 = 0.6484 |

PCls, = PCly +Cly 03 0aread. 298K 36 K, = 18X 107 wond, & ¢6®
(8) (8) (g) ® @
AG dewd [log4.5 = 0.6484 ]

Options:
1 % 14.56 kI.mol™*

5 % 13.82 kl.mol™
3 % 16.24 kI.mol™

4 v 19.12 kI.mol™"

Question Number : 135 Question Id : 8135613335 Display Question Number : Yes Is Question
Mandatory : No
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| 1
For the reaction SOZ(g.jJr?O,_(g} = SOg{gJ.ThE

percentage yield of product at different pressures is shown in 1
the figure. Then. which among the following 1s true? [503] Ps
yleld P,
$o8 :50595‘ G8\) 5 Bridesc. Jd ET 3¢ HOANS h
SrORARA. 308 B D dods ¥BI6? . d

1
5034 +?Gz{9} = 303,

Options :
Pressure has no effect

| w DGR DEPOHIN Got@d

3¢P1>P23P3

48 Pi=B=P#0

Question Number : 136 Question Id : 8135613336 Display Question Number : Yes Is Question
Mandatory : No

For the reaction Na,S0, <= 2N ﬂ’:ac” +S Of; 3 if AG® = +58.7 kJ. then find the value of

(s) a
Ksp of Na, S0, in water at 27 °C,

Y + Vs 0 — r 2
NagS0y = 2Naf 4S04 6616 Peby Do 98 oy AG® = 4587 kI. 27°C
20Eaned Na,50, awe) Ky, deodoed?

Options:
. % —10.2191
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> % 12.019 x 107

3 o 6.038x 1071
4 % 3.061x1077
Question Number : 137 Question Id : 8135613337 Display Question Number : Yes Is Question

Mandatory : No

Ionic hydrndes are usually

3038 b s il o 1o~ Pu b o

Options:
liquids at room temperature
658 agga S B

good reducing agents
, o o) LoDV

good electrical conductors m solid phase

. B ;Jaéé“agé" o) Dd)smﬁs:svs"w

easily reduced

4 % ROVZIVT LoDSCEIotsd LEIRD

Question Number : 138 Question Id : 8135613338 Display Question Number : Yes Is Question
Mandatory : No
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Identify the sequence representing the correct order of 1onic mobility in aqueous solution.

& Sof ©BSVE” D6 2OFIETVS’ VAIrdL WuBo AINE) PBADA S0

Options:

Question Number : 139 Question Id : 8135613339 Display Question Number : Yes Is Question
Mandatory : No

Which metal is protected by a layer of 1ts own oxide?

3D B \& S D BLo5erd S°rAan DA?

Options:
1« Al

> x Au

Question Number : 140 Question Id : 8135613340 Display Question Number : Yes Is Question
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Mandatory : No

Chemically zeolites are

GBI ODAS S0 2ATTED 9D

Options :
Calcium silicates

| % wgoﬁoc ﬂbaggp

Sodium silicates
. cabo 23

2
Hydrated aluminosilicates
" 098 LU ~O3e0

Magnesium silicates
Eﬁaoﬁan ~O3e
4, % -

Question Number : 141 Question Id : 8135613341 Display Question Number : Yes Is Question

Mandatory : No
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Match the following:
Pollutants Effects

(a) Chloro fluoro carbon (1)  BOD level of water increases

(b) Methane i air (1) Acid ram

(c) Synthetic detergents in water (i1) Global warming

(d) Nitrogen oxides mn air (iv) Depletion of ozone layer
SoQT R 2AHEXEIH0:

SRV sede0en DUPT

(a) §6 3660 (i) 8 cwg) aw DA

(b) ™8 DB (if) €50 S

() '8y dexdotn (i) BrordHan

(d) B RS uByw (iv) &89 J6 ind
Options:

1 % (a—iii),(b—iv),(e—i),(d—ii)
2. (a—iv),(b—iii),(c—1i),(d—ii)

4 x (a—iii), (b—ii),(e—i),(d—iv)

Question Number : 142 Question Id : 8135613342 Display Question Number : Yes Is Question
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The number of 1somers possible for a compound with molecular formula C, F Cl Br [ 1s

Co F CLBr I eomaoarGo, o (10 2,8 0 ¥ ool o' 2060 Do

Options:

1.% 4

2. v 6

Question Number : 143 Question Id : 8135613343 Display Question Number : Yes Is Question
Mandatory : No

0 — nitrophenol & p- mitrophenol are separated by

0 — R DTS B p- D DTS L 6 Ba DDA

Options:
Crystallization
SACLELL AT

Fractional distillation
€903S .'bsc:sm

Vaporization
N BDDD0

4.
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Steam distillation

2O A foscs:\‘aan

Question Number : 144 Question Id : 8135613344 Display Question Number : Yes Is Question
Mandatory : No

(1) Give maximum number of alkyl-chain isomers can be obtained from the alkane C:H,, ?
(11) The [UPAC name of n — CcHy, 18

(i) CsHyy GRS Goddv 8PS FHonw JE)3(ED (82 Vog| Jod?

[.U} n= C;le CﬁJoSb [UPAC bd)

Options :
(i) 3 ; (ii) Pentane
1 o (D 35 (i) Do

(i) 5 ; (ii) 3-methyl butane
(i) 5; (i) 3-@S w5e3.5

(i) 4 ; (ii) 2,2-dimethyl propane

5w (D 45 (i) 22-22086 R

(i) 2 ; (ii) 1-pentene
4% (D 2 (i) 1-008

Question Number : 145 Question Id : 8135613345 Display Question Number : Yes Is Question
Mandatory : No
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An excess of potassium 1ons makes KCl crystals appear violet or lilac in colour because

KCl %yB80 wdsomr Teraoo eoirawd O &) )yt B Grrdorh Oor Ders
Borie)’ SDeIEIR). Dot

Options:
of the presence of impurities.
. x 00TV &S JSud.

some of the anionic and cationic sites are vacant.
£y edairdS bk STerairdS e AT Gotat) SPd.

some of the antonic vacancies are occupied by unpaired electron.

some of the cationic vacancies are occupied by unpaired electron.

4, %

£y 0I5 e BSAFED JVTOVSE BENoBEIL ISOD.

£ 301D P 28A7CD JVTROE ENotsICIL DU,

Question Number : 146 Question Id : 8135613346 Display Question Number : Yes Is Question

Mandatory : No
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Which of the following mixtures of solutions follow the conditions 4 H < Oand &  V <07

(1) Nitric acid + Water
(1) Acetic acid + Pyridine
(1) Ethanol + Water
(1v) Carbon tetra chloride + Chloroform

$08 mrdmdn D3AruY’ 4y . H < 0 28akn Ay 4 V < 0 Qoo Ftoetdd) AD?
(i) S50 + A
(1) QES 8o + 0GR
(ii]) RGOS + N
(iv) 56y Ok §06 + §BFD

Options:

(iii) & (iv) only
_— (iii) & (iv) Sordhedd

(ii) & (iii) only
L w (i) & (iii) 3rgd

(i) & (iii) only
3 x (1) & (iii) S0°gd0

(i) & (ii) only
4 (i) & (ii) doradd

Question Number : 147 Question Id : 8135613347 Display Question Number : Yes Is Question
Mandatory : No
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A solution of 122 g of benzoic-acid i 1000 g of benzene shows a boiling point elevation of
1.4 ° If the solute 1s dimerized to an extent of 80 %. the boiling point of pure benzene will be

(Molar enthalpy of vaporization of benzene = 7.8 kcal. mol™)

1000 g © 802" 122 g © Boarons 8ard) (o bR 0s), arbjz;aag“é &3)d
14 °. 80 % D80 BLOmsor &), 08 T SodS alug) eranBdd 3o
(Go2R E,J‘faje;ﬁéé &)oq!“b) = 7.8 keal.mol™)

Options:
1« 420K

, % 370K
3 % 540K

4 % 460 K

Question Number : 148 Question Id : 8135613348 Display Question Number : Yes Is Question

Mandatory : No

At a fixed concentration. the molar conductance of aqueous sodium hydroxide at 298 K 1s
found to be 10 ohm™. em?. mol™. At mfinite dilution and 298 K. its molar conductance is
found to be 242 ohm™.cm®. mol™. Find the degree of 1onization of sodium hydroxide at the

same concentration and temperature.

298 K S0dosn ;';gd TG 56 Jabo TG 20ESRaD awg), Arerd Tirede

10 ohm™. cm? mol ™. e gramo ©d0d Do 3¢ 242 ohm™*.em? mol™ drerd
Tersagn $9A 63)6. ©d adde oo méde 3¢ Ve FEFE LabISdn
D53 o’

Options:

, % 2.06%
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2‘ ‘i?/) 4‘.13 D/U
5 % 0.04%

4. % 10 D/'IJ

Question Number : 149 Question Id : 8135613349 Display Question Number : Yes Is Question
Mandatory : No

' . : (1
Given half-cell potentials E i
r

reduction potential of C13*/Cr

3+I€r2+

=04V adE_,. ~=-091V, find the standard

/Cr

038 208 FOoheSew £ =—04V 280 E° . =—-091V eond, Crit/Cr
@ 9 ' {7 o critjcr

C308), DA 0586 TOJS Desd

Options:

1.8 —1.31V

2 % —1.71V

3 ¢ —0.74V

4 x =051V

Question Number : 150 Question Id : 8135613350 Display Question Number : Yes Is Question
Mandatory : No
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For a galvanic cell Cr/Cr3* // Cd?/Cd . calculated AG® for its all reaction will be
[Egystjer = =074V Eggas g = —040V]

Cr/Cr3* [/ Cd?/Cd mrerqs foesdn aing) o0 1618 8,009 AG° eos

[Egyst /o = —0.74V Eggat g = —0.40V]

Options:

| w —28.95 k] /mol

5 x —125.4 k]/mol

3 ¢ —196.8 kJ/mol

4 % —87.6 kJ]/mol

Question Number : 151 Question Id : 8135613351 Display Question Number : Yes Is Question
Mandatory : No
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Match the entries 1n Column-I with the terms used to show the effect of process i Column-II ?

Column -1 Column - 11

(1) Ferric hydroxide s mixed with arsenic sulphide sol (a) Double decomposition

(11) FeCl, 1s mixed with freshly prepared ppt of Fe(0H); | (b) Coagulation

(111) H,S gas 1s passed through arsenic oxide solution (¢) Tyndall effect

(1iv) A beam of light 1s passed through milk (d) Peptization

158026’ &) drosino 1. EuRd'w) dowods paradw odabidatn Hedwd

2SBoLoC.
1§ Sod I3 Sol
(i) D88 Egys 808 MP\G ¢ s00d (a) &zod AL
(if) FeCly % @y& dasrth S8 Fe(0H);0585a0 6808 | (b) )06
(ili) H,S 00g) 56,08 53\ Eradaioo ot Hod () Boted Herddn
(iv) w8 508 Qoad) Fo T Hodd (d) Degduin
Options:

- (i— d), (i = a), (iii = b), (iv—=¢)
,  (i—=b), (i~ d),(i— a), (v c)
3 » (i—d),(ii—b),(ii— a),(iv—c)

4 x (= b), (i— a),(H— d),(iv- o)

Question Number : 152 Question Id : 8135613352 Display Question Number : Yes Is Question
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Which of the following 1s the cormrect sequence of bond-energies?
S0 To83e5° Lo IOV VBAVA S0 D7

Options:
1% (0—0) > (S—S5) > (Se—Se) > (Te—Te)

> % (Te —Te) > (Se—S5Se) > (5—-5) > (0—-0)
3 J(S—S) > (SE'*"SE') > (0*0) > (TE-’*“TE.’)

4 % (Te—Te) > (0—0) > (Se—Se) > (S—5)

Question Number : 153 Question Id : 8135613353 Display Question Number : Yes Is Question
Mandatory : No

Sulphur reacts with chlorine in 1 ¢ 2 ratio to form X. X on hydrolysis gives a Sulphur

compound Y. Then the central atom of the anion of ¥ has hybridization.

12 286" 206 §65 &' e6{Told X 20 weidydd. X d30g), 2005080 S0 06
R 1 9 Do) ¢ DR, ¥ 0g), 8RakrS & Sog DOATEVY) WeS080RN JEB?

Options :
1. 8 SP

3
2 « SP
3 % sz

4 % 5P3d
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Question Number : 154 Question Id : 8135613354 Display Question Number : Yes Is Question
Mandatory : No

A tetra-atomic molecule (4) on reaction with Nitrogen(I)Oxide produces two substances (B)
and (C). (B) acts as a dehydrating agent while substance (€) is a diatomic gas which shows
almost inert behavior. The substances (4). (B) and (C) respectively are

TeuD DOAPEPHL VR0 LR 4, RS | 8B\E & t6[ Tod B 8o € LR

faé)aaé. B ws :)gbscsci 0001 € 28 BROOTOS T°0VY), FOS” TFEY) 26 J°OI
?osay&blsaﬁ &) 8. 4, B dasn € :Jt:rg'w

Options:
1.« FPa s PsO10, N;

, % P, Ny05, N,

3 % P4 . ong, Ar

4 % P4, P203, 0,

Question Number : 155 Question Id : 8135613355 Display Question Number : Yes Is Question
Mandatory : No

Transition metal elements exhibit general electronic configuration

5856 Srusty F oo DUS°D D:r;g“aao

Options:

nst—2 9110

1. %

5 o nsi=2 (n — 1)dt10
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3 % ns? (n—1)dw

4 u 8% le—1)d®

Question Number : 156 Question Id : 8135613356 Display Question Number : Yes Is Question
Mandatory : No

Match the following?

Vitamin Source
(a) Vitamin -D (1)  Fish liver o1l
(b) Vitamin - E (ii) Green leafy vegetables
(¢) Vitamin - A (1) Egg yolk
(d) Vitamin -K (1v) Sunflower O1l
Sof) TR BAIoIVHANT
MR IEY dodd .g':bm)
(a) DS -D (1) @b 96 ard
(b) DS -E (i) &8I\ 8L Srdew
() DDI-A (1if) D T
(d) dwDS-K (iv) Sgaamao DD AR

Options:
, % Ca=iii),(b—ii),(c—iv),(d—i)

> % (a—iv),(b—iii),(c—ii),(d—1i)
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3 ¢ (a—=iii),(b—iv),(¢—1i),(d—ii)

4 % (a—iv),(b—ii),(e—iii),(d —1)

Question Number : 157 Question Id : 8135613357 Display Question Number : Yes Is Question

Mandatory : No

The major products (P) and (Q) in the following reactions respectively are:

& 308 d:dse‘i" :Ddhc.‘.s DD GOYTH) LoD P LBakn @ e SER

i) Mg, Dry Ether

Br [y p,0 * 5
1) Zn / dil HCI > (Q)
Options:
oD
o ()" @)
Y™
OH
o (P o]
2. %
D
(P): U (Q): O
3.v
4, ®
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Question Number : 158 Question Id : 8135613358 Display Question Number : Yes Is Question
Mandatory : No

Identify the product of the following reaction:

S0 :5656‘ DOE G\ 0 IB?

H.C

Cu,573K

>CH—OH
H,C
Options:
H.C
>CH"""CHJ
. HsC
HyC_
/C=0
2, % H
HyCo_
/C=O
H,C
3.V
mc\c_c/ﬁm
.« HCT o,

“‘Hz T

> 7
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Question Number : 159 Question Id : 8135613359 Display Question Number : Yes Is Question
Mandatory : No

The products formed when (CH;);C — OC,H: reacts with HI are
(CH3)3C — 0C,Hs & HI & o565 203 D00 &Iy en

Options:
Ethyl 1odide and tert-butyl alcohol

. 8 &3P0 OAIrGE Q000 G0 Lar(B0 By 5°O

Ethyl alcohol and tert-butyl 1odide

&S 3w TS Jdatw B6 wrBld wairgd
2. v g & [2

2- Methyl propane and ethane

+ 8 2- BS TS 8ok SBD

Ethane and 2- methyl butane
4 &3S 2003w 2- GBS LI

Question Number : 160 Question Id : 8135613360 Display Question Number : Yes Is Question
Mandatory : No

Identify the products (X) and (V) of the following reaction:
208 ﬁd‘se‘i‘ X S08cin YV Scodne

(i) 0,
Cumene > (X)+ (Y)

oo (i) H,O/H*

Options :
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Toluene. Propene

0, TDD

Toluene. Propyl chloride
DS, IS o6

2. %

Phenol. Acetone

L o DTS, WG’

Phenol. Acetaldehyde
, x OTS, Nerdré
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